14. Co-ordinate Geometry

Exercise 14.1

1. Question

On which axis do the following points lie?

(i) P (5, 0) (ii) Q (0 -2)

(iii) R (- 4, 0) (iv) S (0, 5)

Answer

P on x-axis, since ordinate is zero.

Q on y-axis, since abscissa is zero.

R on x-axis, since ordinate is zero.

S on y-axis, since abscissa is zero.

2. Question

Let ABCD be a square of side 2a. Find the coordinates of the vertices of this square when
(i) A coincides with the origin and AB and AD are along OX and OY respectively.

(ii) The centre of the square is at the origin and coordinate axes are parallel to the sides AB and AD respectively.
Answer

(i) Since each side of square is 2a.

Coordinates of A are (0, 0), since it coincides with origin.

Coordinates of B are (2a, 0), for a point along x-axis ordinate is zero.

Coordinates of C are (2a, 2a), since this point is equi-distance from x-axis and y-axis.
Coordinates of D are (0, 2a), since abscissa is zero and ordinate is 2a.

(ii) Each side of square is a units.

Coordinates of A are (a, a), since this point lies in Ist coordinate.

Coordinates of B are (-a, a), since this point lies in IInd coordinate.

Coordinates of C are (-a, -a), since this point lies in IIIrd coordinate.

Coordinates of D are (a, -a), since this point lies in IVth coordinate.

3. Question

The base PQ of two equilateral triangles PQR and PQR' with side 2a lies along y-axis such that the mid-point of PQ is
at the origin. Find the coordinates of the vertices R and R' of the triangles.

Answer
R (+32.0). R(30.0)

Since PQ is the base of two equilateral triangles with side 2a and mid-point of PQ is at origin.



Therefore point R lies on positive x-axis and point R’ lies on negative y-axis.
OR2 = (2a)2- a2

OR? = 4a?- a2

OR = V3a

Therefore coordinates of R are ( V3a, 0) and R’ (0, V3a)
Exercise 14.2

1. Question

Find the distance between the following pair of points:
(i) (-6,7) and (-1, -5)
(ii)(a+b,b+c)and(a-b,c-b)

(iii) (a sin a, - b cos a) and (-a cos a, b sin a)

(iv) (a, 0) and (0, b)

Answer

(i) (-6,7) and (-1, -5)

Distance = [(x, — x,)2 + (¥2 — ¥,)?

Distance =,/(—1 + 6)2 + (—5 — 7)2
Distance =, /(5)2+(—12)>2
Distance =+/25 + 144

Distance =4/169 = 13 units

Thus, the distance between the points (-6,7) and (-1, -5) is 13 units

(ii)(a+b,b+c)and(a-b,c-b)

Distance =, /(x, — x4)2 + (¥ — ¥.)?

Distance =/{(a — b) — (a + b)}2 + {(c — b) — (b + )}

Distance =\/{a —b—a— b} +{c— b —b — c}?

Distance =,/{—2b}2 + {—2b}?
Distance =,/gp2 = 2./25 units
Thus, the distance between these pointsis (a + b, b+ c)and (a-b,c-b)is hﬁg, units.

(i) (a sin a, - b cos a) and (-a cos a, b sin a)

Distance =, /(x, — x;)2 + (¥, — ¥.)?



Distance ='-/ff"”'”'“"’1 — asina)?® + (bsina + cosa)?

Distance =V a2cosia + alsinla + 2a2sinacosa + b2sinla + bcosa + 2b2sinacosa

Distance =\,ﬂ"r!‘3{rn.-;3r.r - ,wf'n"!u:l + b2 sin%a + costa) + Eﬁhnn'n.';r.r{uz + b?)

2o efnl - .
Because cos™d + sin~d =1 and 2sinacosa = sinla, we get,

Distance =\_,-"r1'-’ + b° + sin2ala® + b%)

T 5 ] ; I,
Or Distance = \."/ﬂ' + b*(1 + sin2a)

2 (1 - cin’
Thus, the distance between points (a sin a, - b cos a) and (-a cos a, b sin a) is V/”' + 0*(1 + sin2a)

(iv) (a, 0) and (0, b)

Distance =, /[(x, — x1)Z + (¥, — ¥,)?

Distance =\/{:[} —a)2+(b—10)2
Distance =+/n2 + hZThus, the distance between points (a, 0) and (0, b) is v/qZ + hZ

2. Question

Find the value of a when the distance between the points (3, a) and (4, 1) is Jl_g

Answer

Distance =‘J{:x2 —x)Z2+ (v — y,)?
V10 = /(4—3)2 + (1 —a)?
J1+(1—a)2=10

1+1—-2a+a*=10

a2-2a-8=0

a2-4a+2a-8=0

a(a-4)+2a@-4)=0

(@a-4)(@a+2)=0

a=4anda=-2

3. Question

If the points (2, 1) and (1,-2) are equidistant from the point (x, y), show that x + 3y = 0.
Answer

Distance from point (2, 1) = Distance from point (1, -2)

Ja—22+(y—1)2= Jx-1)2+(y+2)?




Square roots are cancelled, therefore

-2 +(y-D*= (x-1D*+(y+2)°

Y —d4x+4+y -2y +1=x*—-2x+1+y*+4y +4

—4Ax+2x—2y—4y =10

x+3y=10

4. Question

Find the values of x, y if the distances of the point (x, y) from (-3, 0) as well as from (3, 0) are 4.
Answer

Given: the distances of the point (x, y) from (-3, 0) as well as from (3, 0) are 4.

To find: the values of x, y

Solution:distances of the point (x, y) from (-3, 0) is Distance = Vi[:;[-z —x,)2+ (}72 — }’1)2

4= (302100 )

[ () = 4
(-3-x)*+(-»?=16
9+6x +x*+y* =16

6X + X2+ Y2 =T e (1)

distances of the point (x, y) from (3, 0) is

Distance = /(x, — x1)2 + (¥ — ¥4)?

4=/(3—x)2+(0—y)?

NERFIEACIERY
(32 +(-)? =16

9—-6x +x*+y* =16

Subtract eq 1 from eq 2 to get,= -6x + X2 + y2 - (6Xx + X2 +y2) =7 -7
= -6x +x2+y2-6x-x2-y2=0
= -12 x = 0 = x = OPutting the value of x in eq 1 we get,6x + x2 + y2 = 7

= 6(0) + 02 +y2 =7

Hence, X=0, y=+.{7



5. Question

The length of a line segment is of 10 units and the coordinates of one end-point are (2,-3). If the abscissa of the
other end is 10, find the ordinate of the other end.

Answer

Let the ordinate of other end is k

Distance = [(x, — x,)2 + (¥, — 1)?

10 = /(10— 2)2+ (k + 3)2

On squaring both sides, we get

100 = (10 —2)%2 + (k+ 3)?

100 =64+ k* + 6k +9

kE*+6k—27=0

kE*+9k—3k—27=0

k(k+9)—3(k+9)=0

(k—3)(k+9)=0

k=3, k=-9;

Therefore ordinates are 3, -9

6. Question

Show that the points A(- 4, -1), B(-2, - 4), C(4, 0) and D(2, 3) are the vertices points of a rectangle.
Answer

Given: the points A(- 4, -1), B(-2, - 4), C(4, 0) and D(2, 3)
To prove: the points are the vertices points of a rectangle.

Solution: Vertices of rectangle ABCD are: A(- 4, -1), B(-2, - 4), C(4, 0) and D(2, 3)

4

4
C(4,0)

B(-2,-4)

Length of sides= [(x, — x,)% + (¥, — y1)2

Length of side AB = ,\;’[_2 +4)24+ (—4+1)2=4+9 =+/13 units



Length of side BC = /(4 + 2)2 + (0 + 4)2 = /36 + 16 = v/52 = 2y/13 units

Length of side CD = v"[:z —4)24+(3-0)2 =4 +9=+/13 units

V36 + 16 = /52 = 24/13 units

Length of side AD = /(2 + 4)2 + (3 + 1)2

Length of diagonal BD = Vf[:z +2)2+4(3+4)2 =16 + 49 = \/65 units

Length of diagonal AC = \j(a} +4)24+(0+1)2 =64 + 1 = /65 units

Since opposite sides are equal and diagonal are equal. Therefore given vertices are the vertices of a rectangle.
7. Question

Show that the points A (1,- 2), B (3, 6), C (5, 10) and D (3, 2) are the vertices of a parallelogram.

Answer

Vertices of a parallelogram ABCD are: A (1,- 2), B (3, 6), C (5, 10) and D (3, 2) Length of side AB =
-\r’l(l'z —x)?2 + (y2 —yu)?

Length of side AB = vf(?, —1)2 + (6 + 2)2 = V(4+64)= V68 units

Length of side BC = \f(5 —3)2+4 (10— 6)2 = V(4+16) = V20 units

Length of side CD = .\;’(3 —5)2 4+ (2 —10)2 = V(4+64)= V68 units

Length of side DA = \.f'f(?’ —1)2+(2+2)2 = V(4+16) = V20 units

Length of diagonal BD = \f(3 —3)2+(2—6)2 = V16= 4 units

Length of diagonal AC = .\f[5 —1)2 4+ (10 + 2)2 = V(16+144) = V160 units

Opposite sides of the quadrilateral formed by the given four points are equal i.e. (AB = CD) & (DA = BC)Also, the
diagonals BD & AC are unequal.Therefore, the given points form a parallelogram.

8. Question
Prove that the points A (1, 7), B (4, 2), C (-1, -1) and D (-4, 4) are the vertices of a square.
Answer

Vertices of a square ABCD are: A (1, 7), B (4, 2), C (-1, -1) and D (-4, 4) Length of side AB =
\r’l(xz —x)? + (y2 —y4)?

Length of side AB = \;(4 —1)24(2—=7)2 =9 + 25 = /34 units

Length of side BC = Vf(—l —4)2 4+ (=2 —1)2 = /25 + 9 = /34 units

Length of side CD = ,\f(_z} +1)24 (4+ 1)2 = {9 + 25 = /34 units

Length of side DA = vi(_.:; —1)2+4 (4—7)2 =25 +9 = /34 units

Length of diagonal BD = \.fI[:_"'} —4)2+ (4—2)2 = /64 + 4 = /68 units

Length of diagonal AC = «J(—l —1)24+(=1—-7)2 =4 + 64 = /68 units



Since opposite sides are equal and diagonal are equal. Therefore given vertices are the vertices of a square.
9. Question

Prove that the points (3, 0), (6, 4) and (- 1, 3) are vertices of a right-angled isosceles triangle.

Answer

Vertices of a triangle ABC are: A(3, 0), B(6, 4) and C (- 1, 3)

Length of side AB = \Ml'z —x)2+ (y2—v,)2

Length of side AB = -\f(é —3)24+(4—-0)2 =9 + 16 = /25 units

Length of side BC = vf[—l —6)2+ (3—4)2 = /49 + 1 = /50 units

Length of side AC = Vf(—l —3)24+(3—-0)2 =416 9 = /25 units

Since AB = AC, therefore triangle is an isosceles.

BC? = AB? + AC?

(V50)2 = (V25)2 + (V25)2

50 = 25 + 25

50 = 50

Since BC2 = AB2 + ACZ; therefore given triangle is right angled triangle.
10. Question

Prove that (2, -2), (-2, 1) and (5, 2) are the vertices of a right angled triangle. Find the area of the triangle and the
length of the hypotenuse.

Answer

Solution:Vertices of a triangle ABC are: A(2, -2), B(-2, 1) and C(5, 2)

c(5.2)

A2-2)

Length of side AB = «f(l'z —x)2 4+ (v —y.)?

Length of side AB = vf(_g —2)24+ (1+2)2 =16 + 9 = /25 units

Length of side BC = Vf(5 +2)2+(2—-1)2 =49 + 1 = +/50 units

Length of side AC = \f(5 —2)24(2+2)2 =49+ 16 = /25 units

Since AB = AC, therefore triangle is an isosceles.



BC2 = AB2 + AC?

(V50)2 = (V25)2 + (V25)2
50 = 25 + 25

50 = 50

Since BC2 = AB2 + AC2; therefore given triangle is right angled triangle.

Area of right angled triangle = Elbase X altitude

Area of right angled triangle = 51 ®xBExh5= ? square units

Length of hypotenuse (BC) = /50 = 5/2 units

11. Question

Prove that the points (2 a, 4 a), (2 a, 6 a) and (Za + \/ga. Sa)are the vertices of an equilateral triangle.
Answer

Vertices of a triangle ABC are: A(2 a, 4 a), B(2 a, 6 a) and C|2a + Ba. Sa)

Length of side AB = «f(l'z —x)2 + (y2—yu)?

Length of side AB = J(Za —2a)? + (6a—4a)? = J(Za)z = 2a units

V3 a + aunits

. 2
Length of side BC = J(Za 1 \,’Ea — Za) + (5a — 6a)?2

Length of side AC = J(Za 1 \Ea — Za)z + (5a — 4a)? \E a + a units

The given vertices are not the vertices of an equilateral triangle

12. Question

Prove that the points (2, 3), (-4, -6) and (1, 3/2) do not form a triangle.
Answer

Let the Vertices of a triangle ABC are: A(2, 3), B(-4, -6) and C(1, 3/2)

Length of side AB = [(x, — x,)% + (v, — ¥,)?

Length of side AB = Vf(_.dr —2)24+ (—6—3)2=/36 +81 = /117 units

2
Length of side BC = \,(1 +4)2 4 G n 6) V25 ¥ 56.25 = /81.25 units

Length of side AC = J(l_ 2)2 + G_ 3)2 V1 +2.25 =+/2.25 units

The given vertices do not form a triangle, since sum of two sides of a triangle are not greater than third side.
13. Question

An equilateral triangle has two vertices at the points (3, 4) and (-2, 3), find the coordinates of the third vertex.



Answer
Given: An equilateral triangle has two vertices at the points (3, 4) and (-2, 3)
To find: the coordinates of the third vertex.

Solution: Let the Vertices of a triangle ABC are A(3, 4) and B (-2, 3), and C(x, y),Since it is equilateral
triangle,AB=AC=BCWhere AB,AC and BC are lengths of sides of the given triangle.To find the length of a side use

distance formula Vi[xz —x)2+ (. — v

Length of side AB = vf(xz —x)2 4+ (v —y.)?

Length of side AB = vf(—g —3)2 4+ (3—4)2=+/25+ 1 = /26 units

Length of side BC = Vf(x +2)2 + (y — 3)2 units

Length of side AC = \MI —3)2 + (y — 4)2 unitsNow AB=AC

=(AB)2 = (BC)?

(V26)* = (J(x +2)2+ (y - 3)?
(x+2)2+(y—3)2=26
x*+4x+4+9v -6y +9=26
x*+4x +y*— 6y =13(1)

(AB)? = (AC)?

(V26)* = (J(x = 3)2 + (y — 9)?

(x—3)°+(y—4)* =26

x> —6x+9+y* -8y +16=26

x* —6x + y* — 8y = 1(2)

On subtracting egn (2) from (1), we get

(*+4x+y*—6y) —(x*—6x+y*—8y)=13-1

xr+4x+y —6y—x*+6x—y +8y=13-1
4x—6y+6x—8y=12100+2y =12 Sx+y=06 ... (3)
(AC)? = (BC)?

(x=3)+(y-4)7= (x+2)°+(y—3)°
X2—6x+9+y2—8y+16=x>+4x+4+y’—6y+9—4dr—2y=12 ... (4)
Solving equations (3) and (4), we get

Ly =2

! 3

4 2
Therefore coordinates of C are (E’ —3 )



14. Question
Show that the quadrilateral whose vertices are (2, -1), (3, 4), (-2, 3) and (-3, -2) is a rhombus.
Answer

Let the Vertices of a quadrilateral are: A(2, -1), B(3, 4), C(-2, 3) and D(-3, -2)

Length of side AB = Vf'[xz —x)2 4+ (v, —y.)?

Length of side AB = Vf(3 —2)2+(4+1)2=+1+ 25 = /26 units

Length of side BC = ,\;’(_2 —3)2+4 (3—4)2=+/25+1 = /26 units

Length of side CD = ,\f(—g. +2)2+4 (=2 —3)2 = /1 + 25 = /26 units

Length of side DA = \.f(—?, —2)24+ (—2+1)2=+/25 + 1 = /26 units

Since all sides are of equal length, therefore it is a rhombus.

15. Question

Two vertices of an isosceles triangle are (2, 0) and (2, 5). Find the third vertex if the length of the equal sides is 3.
Answer

Vertices of an isosceles are: A(2, 0) and B(2, 5).

Let the third vertex is P(x, Yy)

Using distance formula = /(xx, — x,)2 + (y, — y1)?

Length of side PA = \;’(x —2)2 + (y)2 units

Length of side PB = UI[:X —2)2+ (y— 5)2 units

Since PA = PB

JG=27+ ()2 = JG= 22+ (- 5)?
On squaring both sides, we get
(x—=2)*+()?=(x—-2)?+(y—5)*

XP—4dx+4+y* =x"—4x+4+y*— 10y +25

Also, PA =3

JG=22+ ()% =3

On squaring both sides, we get
(x=22+ (=9
x?—4x+4+y*=9

x*—4x+y*=5



On substituting y =

I

ra

CHPIEL
X X 4—

25
x2—4x+T—5=D

2 g2
X 41-1—4—0

Using quadratic formula:

{—b + Vb? — 4ac}
X =

2a
~ {a++16 -5}
*= 2
{4 +V11}
y=—-
2

r

4+411 5) ) (4—\;ﬁ 5)
2 2/’

Therefore coordinates of third vertex are: (

16. Question

Which point on x-axis is equidistant from (5, 9) and (- 4, 6)?

Answer

Since the point is on x-axis, therefore coordinate of y-axis is zero.

Therefore the point is P(k, 0) which is equidistance from A(5, 9) and B(- 4, 6)

PA = PB

JGB—k)2+92 = [(—4—k)2 + 62

On squaring both sides
(5—k)2+9%°=(—4—-k)?+6°

25 —10k +k*+81= 16 —8k+ k*+ 36
25—2k+81= 16 +36—25—-81
—2k= 16+36—-25-81

k= 27

Therefore coordinate is (27, 0)

17. Question

Prove that the points (- 2, 5), (0, 1) and (2, - 3) are collinear.
Answer

Vertices are: A(- 2, 5), B(0, 1) and C(2, - 3)



Using distance formula = [(x, —x,)% + (v, — y,)?

Length of side AB = vf(() +2)24(1—-5)2 =4+ 16 =20 = 24/5 units

1l
-
s
=+
'_\.
(s

Length of side BC = Vf(g —0)2+(-3-1)2 = /20 = 2+/5 units

V16 + 64 = /80 = 4+/5 units

Length of side AC = /(2 + 2)2 + (—3 — 5)2
Since length of AB + BC = AC, therefore points are collinear.
18. Question

The coordinates of the point P are (-3, 2). Find the coordinates of the point Q which lies on the line joining P and
origin such that OP = 0Q.

Answer

Let the coordinates of Point Q are (x, y) and coordinates of origin O are (0, 0)
Since OP = 0OQ

Points are: P (-3, 2), Q(x, y) and O (0, 0)

Q is the mid point

—3+x
)
x=3
2+y
)
y=-2

Therefore coordinates are (3, -2)

19. Question

Which point on y-axis is equidistant from (2, 3) and (-4, 1)?

Answer

Since the point is on y-axis, therefore coordinate of x-axis is zero.

Therefore the point is P(0, k) which is equidistance from A(2, 3) and B(- 4, 1)

PA = PB

J(2—0J2+(3—k)2= J(—4)2+(1—;¢)2

JE+9+k*—6k=+16+1+Kk*— 2k
On squaring both sides, we get

—4k = 4

k= -1

Therefore coordinate is (0, -1)

20. Question



The three vertices of a parallelogram are (3, 4), (3, 8) and (9, 8). Find the fourth vertex.
Answer

Consider A(3, 4), B (3, 8) and C(9, 8).

Let the coordinates of fourth vertex are D (X, y)

In a parallelogram diagonals bisect each other

3+9 12

Coordinate of mid point of AC = X = - =5 = 6
4+8 12
2 2

Therefore coordinates of mid point of AC are (6, 6)

Coordinate of mid point of BD = X = 3%(

y+8
T2

Coordinates of point D are

3+x

=
x=12-3=9
v+ 8 6
=
y=12-8=4

Therefore coordinates of fourth vertex D are (9, 4)

21. Question

Find the circumcentre of the triangle whose vertices are (-2, -3), (- 1, 0), (7, - 6).
Answer

Vertices of triangle are A(-2, -3), B(- 1, 0), C(7, - 6)

Let the coordinates of P are (x, y)

PA = PB =PC

PA = PB

J[;H— 2)2+ (y+3)% = J(;H- )2+ (y—0)*
On squaring both sides, we get
X +4x+4+yi+ey+9=x+2x+1+y?

2x + 6y =—12



J(;H 2)2 4 (y+ 3)2 =J(x— 72+ (y+6)°

On squaring both sides, we get
xP+ax+4+yi+6y+9=x7—14x+49+y> +12y+ 36

18x — 6y =172

On solving equations (1) & (2), We get

X=3andy = -3

Therefore coordinates are (3, -3)

22. Question

Find the angle subtended at the origin by the line segment whose end points are (0,100) and (10, 0).
Answer

Since the abscissa of first coordinate is zero, therefore this point lies on y-axis. Ordinate of second point is zero,
therefore this point lies on y-axis. We know that both the axes are perpendicular to eachother, therefore the angle
between these points is 90°.

23. Question

Find the centre of the circle passing through (2, 1), (5, - 8) and (2, - 9).
Answer

Coordinates of points on a circle are A(2,1), B(5,-8) and C(2,-9).

Let the coordinates of the centre of the circle be O(x, y)

Using distance formula = \r'f(l'z —x,)%+ (3;2 — J’H)z

Since the distance of the points A, B and C will be equal from the center, therefore

= OA =0B

J(I—Z)z—l- (y— 1)22\’(1—5)2"‘ (v+8)*

On squaring both sides, we get
>x2+4-4x+y2+1-2y=x%+25-10x + y2 + 64 + 16y
=6x-18y-84=0

=>Xx-3y-14=0------------- (1)

Similarly, OC = OB

J(x— 2)2+ (v+9)? =J(x— 5)2+ (y+8)°

=>x2+4-4x+y2 + 81+ 18y = x2 + 25 - 10x + y2 + 64 + 16y
=>6x-2y-4=0

=>3X-y-2=0------------ (2)



By solving equations (1) and (2), wegetx =-1,y =-5

So, the coordinates of the centre of the circle is (-1, -5).

Radius of the circle = OA = \/(—1 — 2)2 + (=5 — 1)?

3+/5 units

24. Question

Find the value of k, if the point P (0, 2) is equidistant from (3, k) and (k, 5).
Answer

Let the point is P(0, 2) which is equidistance from A(3, k) and B(k, 5)

PA = PB

J(S—U)z +(k—2)= J(k— 0)2+ (5—2)*

On squaring both sides, we get

9+k*+4—4k=KkK+9

—4k = —4

k=1

25. Question

If two opposite vertices of a square are (5, 4) and (1, -6), find the coordinates of its remaining two vertices.
Answer

Let ABCD is a square with A(5, 4) and C(1, -6).

Let the coordinates of B are (X, y)

Using distance formula = [(x, —x,)% + (v, — y,)?

= AB = BC

Jo-92+ -2 = [a-02+ (6= )?
On squaring both sides, we get

¥ —10x+25+y* —8y+16=x*+1—-2x+y*+ 12y + 36

—8x —20y = —4
2x—by=1
1+5y

In AABC, Using Pythagoras theorem



AC2 = AB? + BC2

AC2 = 2BC? [Since AB = BC]

J(1—5)2+ (=6 4)* = zJ(x—l)z +(y+6)
On squaring both sides, we get

16 +100 =2(x*+ 1—2x +y* + 12y + 36)
E8=x*+1—-2x+yv*+12y+36

21 =x*—-2x+y*+ 12y

X2 —2x+y P4+ 12y = 21, (2)

s
On substituting value of x = % from equation (1) in equation (2), we get

{(1 + 53_.;)}2 ~ [2(1 +5y)

+y*+12y =21
2 2 } yor ey

1+ 25y% + 10y
4

+ 145y +y*+12y=21

1425y + 10y +4+ 20y + 4y* + 48y = 21

29y* + 78y =79

29y*+ 78y —79=0

On solving we gety = -3, -1

Substituting these values of y in eqn 1, we get x = 8, -2

Therefore other coordinates are B(8, -3). And D(-2,1)

26. Question

Show that the points (-3, 2), (-5, -5), (2, -3) and (4, 4) are the vertices of a rhombus. Find the area of this rhombus.
Answer

Vertices of the rhombus are: A(-3, 2), B(-5, -5), C(2, -3) and D(4, 4)

We know that diagonals of a rhombus bisect each other, therefore point of intersection of diagonals is:

Abscissa of Mid point of AC = 22;3 = —51
Ordinate of Mid point of AC = _3;2 = —é
. . . 4-5 1
Abscissa of Mid point of BD = R
. . . 4-5 1
Ordinate of Mid point of BD = - = 3

Since the diagonals AC and BD bisect each other at O, therefore it is a rhombus.

Length of diagonal AC = ,\f(g +3)2+(-3-2)2= [25 + 25 = /50 = 54/2 units



Length of diagonal BD = Vf(.:; +5)2+(4+5)2=81+81= V162 = 94/2 units
Area of rhombus = ; ®xdl xd2 = 51 % 5v2 % 942 = 45 sq units

Area of rhombus is 45 sq units
27. Question

Find the coordinates of the circumcentre of the triangle whose vertices are (3, 0), (-1, -6) and (4,-1). Also, find its
circumradius.

Answer
Coordinates of points on a circle are A (3, 0), B(-1, -6) and C(4,-1)

Let the coordinates of the centre of the circle be O(x, y)

Using distance formula = \r'f(l'z —x,)%+ (yz — ?1)2

Since the distance of the points A, B and C will be equal from the center, therefore

= 0A =0C

J(x—3)2+ (y—O)zzJ(I-F 1)2+ (y+6)°

On squaring both sides, we get

(x=3P +(yv—002=x+1)*+(y+6)
S>x2+9-6x+y2=x2+2x+1+y2+ 36+ 12y
= -8x - 12y = 28

= 2X + 3y = -7------------- (1)

Similarly, OC = OB

J(x— 4)2+ (v+1)*= J(;H 1)2+ (y+6)°
On squaring both sides, we get
(x—4)2+(v+1)%*=(x+1)*+(y+6)

>x2+16-8x+y2+ 142y =x2+1+2x+y2+ 36 + 12y

= -10x - 10y = 20

Solving eqn (1) and (2), we get
x=1,y=-3

Coordinates of circum center are (1, -3)

Circum radius of the circle = OA = /(1 — 3)2 4 (3)2

]

Il
=
ﬂ
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3
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28. Question

Find a point on the x-axis which is equidistant from the points (7, 6) and (-3, 4).
Answer

points A(7, 6) and B(-3, 4) are equidistance from point P.

Let the coordinates of point are P(x, 0)

Using distance formula = \r'f(l'z —x,)%+ (yz — ?1)2

= PA = PB

J(x—?)2+ (0—6)° = J(x+3)2+(0—4)2

On squaring both sides, we get
(x—7)2+(0—6)2=(x+3)2+(0—4)*

X2 —14x+49+36=x*+6x+9+ 16

Therefore coordinates are (3, 0)

29 A. Question

Show that the points A(5, 6), B (1, 5), C(2, 1) and D(6, 2) are the vertices of a square.
Answer

Vertices of a quadrilateral are A(5,6), B(1,5), C(2,1) and D(6,2).

Using distance formula = /(xx, — x,)2 + (y, — y1)?

AB=[(1-5)2+(5-6)2=,/(16+ 1) =+/17 units

BC=./(2-1)2+(1-5)2=/(1+16) =+/17 units
CD = /(6—2)2+(2—1)2 =,/(16 + 1) = /17 units

DA=./(6—-5)2+(2—-6)2=,/(1+16) =17 units

AB = BC = CD = DA

BD = /(6 —1)2+(2—5)2=,/(25+9) = /34 units
AC=[(2—-5)2+(1—6)2=./(9 +25) = /34 units

All the four sides of the quadrilateral are equal and diagonals are of equal length. Therefore, the given vertices form a
square.

29 B. Question
Prove that the points A (2, 3), B (-2, 2), C (-1, -2), and D (3, -1) are the vertices of a square ABCD.

Answer



The Vertices of a quadrilateral are A(5,6), B(1,5), C(2,1) and D(6,2).

Using distance formula = '\.'III(IZE — X2+ (y2 — yo)?

AB = [(—2—2)2+(2—3)2=/(16 + 1) = /17 units

BC

J(=1+2)24 (-2-2)2 = /(1 + 16) = /17 units

CD=/(6—2)2+(2—1)2 =,/(16 + 1) = /17 units
DA= /(6 —5)2+(2—6)2=,/(1+16) = /17 units
AB = BC = CD = DA

BD = /(6 —1)2+(2—5)2=./(25 +9) = /34 units
AC=[(2-5)2+(1—6)2= /(9 +25) = /34 units

All the four sides of the quadrilateral are equal and diagonals are of equal length. Therefore, the given vertices form a
square.

30. Question

Find the point on x-axis which is equidistant from the points (-2, 5) and (2,-3).
Answer

Points A(-2, 5) and B(2, -3) are equidistant from point P.

Let the coordinates of point are P(x, 0)

Using distance formula = '\flll(IZ —x,)2 + (}’z — y1)2

= PA = PB

J(;H— 2)2+(0—-5)*= J(x—z)z + (0 +3)?

On squaring both sides, we get

(x+2)*+(0-5)?2=(x—-2)*+(0+3)*

X*+4x+4+25=x*—4x+4+9

8x = -16x = -2

Hence, coordinates are (-2, 0).

31. Question

Find the value of x such that PO =0R where the coordinates of P, Q and R are (6,-1), (1, 3) and (x, 8) respectively.

Answer

Coordinates are P(6,-1), Q(1, 3) and R(x, 8)

Using distance formula = '\flll(IZ —x,)2 + (}’z — y1)2

= PQ = QR



J(l—a)z (3 41)7 = J(x— 1)2 + (8— 3)°
On squaring both sides, we get
(1-6)*+(3+1)*=(x—1)*+(8-3)?
25+16=x>—2x+1+25
x*—2x—15=0

On solving above equation, we get
x*—-5x+3x—-15=0

¥(x -5)+3(x—5)=0

(x+3)(x—5)=0

x=-3

x=5

Therefore x = -3, 5

32. Question

Prove that the points (0, 0), (5, 5) and (-5, 5) are the vertices of a right isosceles triangle.

Answer

Vertices of a quadrilateral are A (0, 0), B(5, 5) and C(-5, 5)

Using distance formula = \r'f(l'z —x)2+ (v, —y,)2

AB = [(5—-0)2+(5—0)2 =.,/(25 + 25) = /50 units

BC=./(—5—5)2+ (5—5)2= /(100 + 0) = /100 units

CA=/(-5-0)2+ (5—0)2=,/(25+ 25) = /50 units

Since AB = CA

Using Pythagoras theorem

BC2 = ACZ + AB2

100 = 50 + 50

100 = 100

Therefore vertices are of right isosceles triangle.

33. Question

If the point P(x, y) is equidistant from the points A(5, 1) and B (1, 5), prove that x = y.
Answer

Coordinates are P(x, y), A(5, 1) and B (1, 5)

Using distance formula = \r'f(l'z —x,)%+ (yz — ?1)2



= PA = PB

Jo=92+ -1 = - D2+ -5y

On squaring both sides, we get
(x—8)2+(y-1)=(x-1D*+(y—5)°

¥ —10x+25+y* —2y+1=x*—-2x+ 1+ y* —10y+ 25
—8x+8y=20

X = y proved

34. Question
Q (0, 1) is equidistant from P (5, -3) and R (x, 6), find the values of x. Also, find the distances QR and PR.
Answer

Coordinates are Q(0, 1), P (5, -3) and R (x, 6),

Using distance formula = \r'f(l'z —x,)%+ (yz — ?1)2

= QP = QR

J(5—o)2+ (—3—1)°= J(x—0)2+ (6 — 1)
On squaring both sides, we get
(5—-0)2+(-3—-1)*=(x—0)2+(6— 1)
25+ 16=x*+25

x%=16

X = 14 proved

QR=./(—4—0)2+ (6 — 1) =16 + 25 = /41 units

PR=/(4—5)2+ (6 +3)% = 1+81 =82 units

35. Question

Find the values of y for which the distance between the points P (2, -3) and Q (10, y) is 10 units.
Answer

Given: the distance between the points P (2, -3) and Q (10, y) is 10 units.

To find: The value of y.

Solution:Coordinates are P (2, -3) and Q (10, y)

We use distance formula \rf(l'z —x,)2+ (};2 — 3’1)2 to find the distance between two points.

Since PQ = 10 unitsSO,

J(10—2)2+ (y+3)2=10



On squaring both sides, we get
(10—2)2+ (y+3)% =100
= 82 + (y+3)2 = 100

=64+ y*+6y+9=100
=73 4+ y2 + 6y = 100

=73 +y2+6y-100=0
=>y*+6y—27=0

In factorization, we write the middle term of the quadratic equation either as a sum of two numbers or difference of
two numbers such that the equation can be factorized.

>y2+9y-3y-27=0

=2y(y +9)-3(y+9)=0

=>(y-3)y+9)=0

=>y =3, -9

36. Question

Find the centre of the circle passing through (6, -6), (3, -7) and (3, 3).
Answer

Coordinates of points on a circle are A(6, -6), B(3, -7) and C(3, 3).

Let the coordinates of the centre of the circle be O(x, y)

Using distance formula = \r'f(l'z —x,)%+ (3;2 — J’H)z

Since the distance of the points A, B and C will be equal from the center, therefore

= OA =0C

J(x—é)z—l- (v + 6)22\’(1—3)2"‘ (y—3)*

On squaring both sides, we get
(x—6)P+(y+6)?=(x-3)7+(y—-3)°

x2—12x+36+y?+12y+36=x2—6x+9+y*—6y+9

Similarly, OA = OB

J(x— 6)2+ (y+6)* = J(x— 32+ (y+7)°
On squaring both sides, we get
(x—6)2+(y+6)2=(x—3)2+(y+7)°

x2—12x+36+y?>+ 12y +36=x>—6x+9+y> + 14y + 49



Solving eqgn (1) and (2), we get

X=3;y=-2

Coordinates of circum center are (3, -2)

37. Question

Two opposite vertices of a square are (-1, 2) and (3, 2). Find the coordinates of other two vertices.
Answer

The coordinates are A(-1, 2) and C(3, 2).

Let the coordinates of the vertex B are (X, y)

AB = BC

Using distance formula = [(x, —x,)2 + (v, — y,)2

Jo+ D2 -2 = -2+ -2
On squaring both sides, we get
x+D2+(y-2=(x-3)?2+(y—-2)?
H2x+1+V: -4y +4=x*—-6x+9+y* —4y+4
x=1

In AABC

AB2 + BC2 = AC? [Using Pythagoras theorem]
2ABZ2 = ACZ? [Since AB = BC]
2[x+1)*+(v—2)1=(3+1)*+(2—2)
2[x*+2x+1+y*—4y+4] =16
x*+2x+1+y*—4y+4=8
x2+2x+yr—4y=3

On substituting x = 1

1+2x1+y?—4y=3

y2—4y =0
y(y—4)=0
y=04

Other coordinates are (1, 0) and (1, 4)
38. Question
Name the quadrilateral formed, if any, by the following points, and give reasons for your answers:

(l) A ('11 - 2)/ B (11 O)I C ('11 2)1 D ('3/ 0)



(”) A (_31 5)1 B (31 1)1 C (Ol 3)1 D ('11 - 4)
(i) A (4, 5), B (7,6),C(4, 3),D (1, 2)
Answer

(l) A ('11 - 2)1 B (11 O)I C ('11 2)1 D ('31 0)

C{-1,2)
2
>B(1 ,0)
5 N = b d4-Ho 1
D(-3.,0
Al- |.—2)

Using distance formula: J(kz —x)2+ (y,—y,)2

AB=.J(1+1)2+(0+2)? =2 +2® = /TF 1 =-/F units

BO =+/(—1-1)* +(—2-0)* =/ (=2’ +(=2)> = /2 F 4 = /8 units
D =+/(=3+172+(0-2)% =+/(=2)* +(=2)° = JTF+1 =/3 units

DA=J(=34+124(0+2)?2 =/(=2>+(2)* = /T 1 =~/3 units

AB = BC = CD = DA

BD :\/(—3—1)24‘(0—0)2 :\/(—4)2+(0)2 =./164+0 =4 units
AC = (=1 + 12+ (242)2 =/ (0)* +(4)* =./0F 16 = 4 units

All the four sides of the quadrilateral are equal and diagonals are of equal length. Therefore, the given vertices form a
square.

(”) A (-31 5)1 B (3r 1)1 C (Or 3)1 D ('11 - 4)



>B[3,1)

4 1

//N-’
\

J?\\

Using distance formula: Vf(xz —x)2+ (v, —vy)?

AB:\/(3+3)2+(1—5)2 :\/(6)2+(—4)2 =./36+16 =./52 =2/13units
BC:\/(O—3)2+(3—1)2 :\/(—3)24-(2)2 —./9+4 =./13 units
CD=+/(—1407 +(=1—3)? =/ (=1)* +(=7)* =/TF 19 = /50 units
DA=J(m14 372 +(=1=5)° = /(2 +(=9) = /TF 1 = /85 units

Since all sides are of different length, therefore it is not a particular type of quadrilateral.

(iii) A (4, 5), B (7, 6), C (4, 3),D (1, 2)

A4S B(7.6)

—" C@43)

D(1,2)

2 L 0 2 4 6 7

Using distance formula J{:Xz —x)2+ (y.—y)?




AB =/ (T—4 4 (6 =5 =/ (32 +(1)* = /91 = /10 units
BO =(4—74+(3-6)* =/ (3 +(=3)> =/9F 9 = /I8 units
CD=~(1-4%+(2-3)* =+/(=3)>+(=1)> =./OIF 1 =/10 units
DA=+/(1—42+(2-5)% =/(=3)* +(=3)* =./9F 9 = /18 units

4+4 a+3 8

Coordinates of midpoint of diagonal AC X= - = 4Y = - =5= 4
Therefore coordinates of midpoint of AC are (4, 4)
Coordinates of midpoint of diagonal BD= X = % =4,Y= % = g =4

Therefore coordinates of midpoint of AC are (4, 4)

Since diagonals bisect each other at same point therefore quadrilateral is a parallelogram.

39. Question

Find the equation of the perpendicular bisector of the line segment joining points (7, 1) and (3, 5).
Answer

The points are A(7, 1) and B(3, 5).

Coordinates of midpoint of line AB = X = ? =5Y= %l =5 3

Therefore coordinates of midpoint of AB are (5, 3)

. Y=Y 5-1 4
Slope of the line = =—=-
Xz—Xy 3—1 2

Negative reciprocal of slope = —

[N

Equation of line Y= mX+C

X

=—4+C
y=73
3 5+c
2
11
C=—
1_+11
y= 75T
2y = —x + 11
x+2y=11

Since diagonals bisect each other at same point therefore quadrilateral is a parallelogram.
40. Question

Prove that the points (3, 0), (4, 5), (-1, 4) and (-2, -1), taken in order, form a rhombus. Also, find its area.



Answer

Let the Vertices of a quadrilateral are: A(3, 0), B(4, 5), C(-1, 4) and D(-2, -1),

Length of side AB = \Ml'z —x)2+ (y2—v,)2

Length of side AB = ,\f(.:} —3)24(5—-0)2 =41+ 25 = /26 units

Length of side BC = vf(—l —4)24 (4—5)2 =25+ 1 = /26 units

Length of side CD = J(—g +1)2+ (—1—4)2 = /1 + 25 = /26 units

Length of side DA = J(—Z —3)24 (—=1—-0)2 =25+ 1 = /26 units

Length of diagonal AC = Vf(_l —3)24+(4—0)2 =16 + 16 = /32 units

Length of side BD = J(—g —4)24+(—1—-5)2= /36 + 36 = /72 units
Since all sides are of equal length, therefore it is a rhombus.
Area of Rhombus = ; Xd, Xdy= ; x 32 x\72 = é X 42 x 612 = 24 sq. units

41. Question

In the seating arrangement of desks in a classroom three students Rohini, Sandhya and Bina are seated at A (3, 1), B
(6, 4) and C (8, 6). Do you think they are seated in a line?

Answer
Points are A (3, 1), B (6, 4) and C (8, 6)

For sitting in a line three points must be collinear i.e AB + BC = AC

Length of side AB = Vf'[xz —x)2 4+ (v, —y.)?

Length of side AB = Vf(ﬁ —3)2+(4—-1)2=9 +9 =18 = 3/2 units
Length of side BC = ,\f(g —6)2+(6—4)2 =4 +4=+/8= 22 units

Length of side AC = vf[g —3)24(6—1)2 =+/25 + 25 = /50 = 5y/2 units

AB + BC = AC

b3l

3\.@ + 2\.@ = by
The points are collinear.

42. Question

Find a point on y-axis which is equidistant from the points (5, - 2) and (- 3, 2).
Answer

Points A(5, -2) and B(-3, 2) are equidistance from point P.

Let the coordinates of point are P(0, y)

Using distance formula = [(xx, —x,)2 + (y, — y,)?

= PA = PB



J(o—5)2+@+2)2= J(o+3)2+@—2)2

On squaring both sides, we get

(0-5)% + (y+2)? = (0+3)? + (y-2)

= (-5)2 + (y+2)? = (3)? + (y-2)?
=>25+y2+4+4y=9+y2+4-4y

=>4y +4y =9 - 25

= 8y = -16

>y =-2

Therefore coordinates are (0, -2).

43. Question

Find a relation between x and y such that the point (x, y) is equidistant from the points (3, 6) and (-3, 4).
Answer

Coordinates of the points are A(3, 6) and B(-3, 4)

Let the point P(x, y) is equidistant from A and B

Using distance formula = \r'f(l'z —X1)2 + (y2 — y1)2

= PA = PB

J(x— 3)2+ (y—6)® ZJ(JH- 3)2+ (v—4)*

On squaring both sides, we get
(x=3)°+(y—6)?=(x+3)°+(y -4~

¥ —6x+9+1y* —12y+36=x*+6x+9+y* -8y +16
3x+y=5

44. Question

If a point A (0, 2) is equidistant from the points B (3, p) and C (p, 5), then find the value of p.

Answer

Using distance formula = '\flll(IZ —x,)2 + (}’z — y1)2

= AB = AC

J(3—0)2+ (P—2)7 = J(p—o)2+ (5-2)°
On squaring both sides, we get
(3—0)2+(P—2)?=(P—0)2+(5—-2)°

9+P*—4P+4=P*+9



P=1

45, Question

Prove that the points (7, 10), (-2, 5) and (3, -4) are the vertices of an isosceles right triangle.
Answer

Vertices of a quadrilateral are A (7, 10), B(-2, 5) and C(3, -4)

Using distance formula = '\flll(IZ —x,)2 + (}’z — y1)2

AB = /(-2 —7)2+ (5—10)2 = /(81 + 25) = /106 units

BC=(3+2)2+(—4—5)2=,/(25+81) =106 units

AC=[(3—7)2+(—4—10)2=,/(16 + 196) = /212 units
Since AB = BC

Using Pythagoras theorem

AC? = AB? + BC?

(V212)” = (V106) + (V106 )?

212 = 106 + 106

212 = 212

Therefore vertices are of right isosceles triangle.

46. Question

If the point P (x, 3) is equidistant from the points A (7,-1) and B (6, 8), find the value of x and find the distance AP.
Answer

Coordinates are A (7,-1) and B (6, 8)

The point P (x, 3) is equidistant.

Using distance formula = \f'f(l'z —X1)2 + (y2 — yo)?

= PA = PB

J(x— 24 (3+1)7 = J(x—6)2+ (3 8)?
On squaring both sides, we get
(x—7)+(B+1)*=(x—6)*+(3—8)

2 —14x+49+16=x*—12x + 36+ 25

x=2

AP =(2—7)2+(3+1)% = V25 + 16 = V41 units
47. Question

If A (3, y) is equidistant from points P (8, -3) and Q (7,6) , find the value of y and find the distance AQ.



Answer
Coordinates are P(8, -3) and Q(7,6)

The point A (3, y) is equidistant.

Using distance formula = \r'f(l'z —x)2+ (v, —v,)2

> PA = QA

JG-92+0+32= [G-12+ -6y
On squaring both sides, we get

3-8+ (y+3)°=3B-7+(y-6)°
25+y*+6y +9=16+y*> — 12y + 36

y=1

AQ = /(3 —7)2+(1—6)%=+16 + 25 = /41 units
48. Question
If (0, - 3) and (0, 3) are the two vertices of an equilateral triangle, find the coordinates of its third vertex.

Answer

Coordinates are A(0, -3) and B(0,3) and C(x, y)

Using distance formula = [(xx, — x,)2 + (y, — y,)?

= AB = AC

J(0—0)2+ (3+3)2=J(x—0)2+ (v +3)?
On squaring both sides, we get
(0—0)2+(3+3)3=(x—0)2+ (y+3)?
36=x>*+y*+6y+9

x*+y*+ 6y =27(1)

= AB = BC

JO-02+3+37 = (-0 +(y-3)°
On squaring both sides, we get

(0—0)+ (3+3)*=(x—0)*+(y—3)*
36=x*+y*—6y+9

x*+y* —6y =27(2)

On subtracting equation (2) from (1) we get



12y =0
y=10

On substituting y = 0 in equation (1), we get

x*+y* + 6y =27

x* =27

x =133

Therefore coordinates of third vertex are (34/3,0), (—3+/3, 0),

49. Question
If the point P (2, 2) is equidistant from the points A (-2, k) and B (-2k, -3), find k. Also, find the length of AP.
Answer

Coordinates of points are P(2, 2) A(-2, k) and B(-2k, -3)

Using distance formula = | /(x, —x,)2 + (¥, — y.)?

= PA = PB

J(—2—2)2+ (k —2)? =J(—2k—2)2+ (-3-2)°
On squaring both sides, we get
(—2—-2)2+(k—2)2=(—2k—2)2+ (-3 —2)2
16+k*—4k+4=4k*+8k+4+25
kE*+4k+3=0

F°+3k+k+3=0

E(k+3)+1(k+3)=0

(k+1)(k+3)=0

E=-1,-3

AP = vx(_z —2)2+ (-1 -2)%= V16 +9 = 5 units

50. Question

If the point A (0, 2) is equidistant from the points B (3, p) and C (p, 5) the length of AB.
Answer

Coordinates of points are A(0, 2), B(3, p) and C(p, 5)

Using distance formula = [(x, —x,)% + (v, — y,)?

= AB = AC

JG-02+@-2= [p-02+ (-2



On squaring both sides, we get
(3—-0)2+(p—2)>2=(p—0)2+(5-2)2

9+p*—4p+4=p*+9

AB = /(3 -0)2+ (1—2)?=+9+1=1/10 units

51. Question

If the point P (k -1, 2) is equidistant from the points A (3, k) and B (k,5), find the value of k.
Answer

Coordinates of points are A(3, k), B(k, 5) and P(k-1, 2)

Using distance formula = [(x, —x,)% + (v, — ¥,)?

= PA = PB

J(k— 1—3)2+(2—.Ic)2=J(R—l—k)2+(2—5)2
On squaring both sides, we get
(k—1-3)+(2-k)?*=(k—1—-k)*+(2-5)?
(k=4 +(2-k)?*=(-1)*+(-3)
k*—8k+16+k*—4k+4=1+9
k*—6k+5=0

k*—5k—k+5=0

k(k—5)—1(k—=5)=0

(k—5)k—1)=0

k=1,5

Exercise 14.3

1. Question

Find the coordinates of the point which divides the line segment joining (- 1, 3) and (4, -7) internally in the ratio 3 :
4,

Answer

Let our points be A(-1, 3) and B(4, -7) and required point be C( x, y)



Given that point divides internally in ratio of 3:4.

By section formula,

Mo 11X, my s +0y,

14
m+n m+n

Here, m=3andn =4

_ 34 x(—-1) 3 =(-T)+4 %3
344 344
qo 1274 212
’ 7 Y 7
8 -9
X=2/¥Y==

8 -9
Hence, the required point is C(; ' )

2. Question

Find the points of trisection of the line segment joining the points:

(i) (5, -6) and (- 7, 5), (ii) (3, -2) and (-3, -4), (iii) (2, -2) and (-7, 4)

Answer

(i) (5, -6) and (- 7, 5),

Let our given points be A(5,-6) and B(-7, 5) and required points be C (x1, y1 ) and D(x2, y2)

The points of trisection of a line are points which divide into the ratio 1:2

B=[7.5)

™

\TIT Yol

\.:-. = (5, -6)



By section formula,

MHg +1%, mys+0y,

m+n ! m+n
For point C(x1, Y1)

_ 1 x{(=7)+2 x5

I

1+2
1 %5 +2 X(—6
y=¥...Herem=1andn=2
1
1+2
s x 3 =7
- X1 3,Y1 3

£C(x1,v1) = (1, 2)

For point D(x2 , y2 )

2 X{—7)}+1 x5 2 X5 +1 %(-6
Xy = (=7) =, Y= 22 ( J...Herem=2andn=1
2+1 2+1

X_—9 4
“ X2 3 1 Y2 3

4
=D (XZ r YZ)E (_31 E )
Hence, the points of trisection of line joining given points are (1, _?? ) and (-3, ;—1' )
(i) (3, -2) and (-3, -4)

Let our given points be A(3,-2) and B(-3, -4) and required points be C (x1 , y1 ) and D(x3 , y2)

The points of trisection of a line are points which divide into the ratio 1:2

~ [ A=(3,2
T =(3.2)
__,_-«1" Clxyevy)
,».—-""'- D{x.,.
i 3 ¥a)
B=(3 4)

By section formula,

Mo+, mys+0y,

m+n ! m+n
For point C(x1 , Y1)

X1 = 1 x(=3)+2 x3 L Y1= 1X(4)+2X02) pHerem =1andn =2

1+2 1+2

3 -8

WXy == = —
1 3,\'1 3

£COa,v1)=(1,2)

For point D(x2 , y2 )

X, = 2 ®(—3)+1 =3 yo= 2 ®(—4) +1x%(-2) Herem = 2andn = 1
2+1 ! 2+1




-3 —-10

A Xy = — = —
2 3,Y2 3

—-10
=D (XZ I YZ)E (_11 T)
. . . S ) . -2 —-10
Hence, the points of trisection of line joining given points are (1, = ) and (-1, = )

(iii) (2, -2) and (-7, 4)
Let our given points be A(2,-2) and B(-7, 4) and required points be C (x; , y1 ) and D(x2 , y2)
The points of trisection of a line are points which divide into the ratio 1:2

B=(7.4)

. Gt )
-m\
Ry
S A=(2-2)
By section formula,
_ ImHz +0X, _ myz+ny,
m+n ! m+n
For point C(x1 , Y1)
1 %(—7)+2 %2 1 x4 +2 x(—2
X1 = 7 ; Y1= ( )...Herem=1andn=2
1+2 1+2
= -3 0
- X1 3’ Y1 3
"'C(XllY].)E(_llD)
For point D(x2 , y2 )
2 %71 =2 2 X4 +1 x%(-2)
Xz = , Y2= .Herem=2andn=1
2+1 2+1
o = -1z _ 6
- R2 3 ’ y2 3

~D(x2,Y2)= (-4, 2)
3. Question

Find the coordinates of the point where the diagonals of the parallelogram formed by joining the points (-2, -1), (1,
0), (4, 3) and (1, 2) meet.

Answer

Let our points of parallelogram be A(-2, -1), B(1, 0), C(4, 3) and D(1, 2) and mid point of diagonals be E(x,y)



We know that diagonals of parallelogram bisect each other.
Hence, we find mid point of AC.

By midpoint formula,

_ Xyt Mg _ ¥ty
= LY =

2 2

For point E(x, Yy)

—244 —1+3

X1 = =
1 5 Y1 5

_X_z 2
- X1 2,Y1 2

S“E(Y)=(1,1)
4. Question
Prove that the points (3, -2), (4, 0), (6, -3) and (5, -5) are the vertices of a parallelogram.
Answer
We know if the quadrilateral is parallelogram if opposite sides are equal.
Let our points be A(3, -2), B(4, 0), C(6, -3) and D(5, -5).
B = (4,0)

\

",

\

A=(3,-2)

N C=(6,-3)

N
\

By distance formula,

XY = \r’l(xz —X1)2+ (¥, — ¥y )

For AB,

AB = \,(4— 3)2— (0 - (-2))



=\V1+4

/5 units

For BC,

BC = J(ﬁ— 4)2—((-3) —0)’

- VIT9

V13 units

For CD,

Cb = J(5— 6)2—((-5) - (-3))°
=Ji+4
= /5 units

For AD,

AD = J(B— 3)2 - ((-5) - (-2))’
=VEF9
= /13 units

Here, we observe that AB = CD and AD = BC, which means that the quadrilateral formed by lines joining by points, is
parallelogram.

5. Question

Three consecutive vertices of a parallelogram are (-2, -1), (1, 0) and (4, 3). Find the fourth vertex
Answer

Let three vertices be A(-2, -1), B(1, 0) and C(4, 3) and fourth vertex be D(x, y)

Cof43)
.

A= 2 -1)
It is given that quadrilateral joining these four vertices is parallelogram.

~0ABCD is parallelogram

We know that diagonals of parallelogram bisect each other, ie midpoint of the diagonals coincide.



Let E(Xm , Ym) be the midpoint of diagonals AC and BD.

By midpoint formula,

_ Xyt Hy _ Y1ty
= LY =

2 2

For diagonal AC,

—2+4 —1+3

Xm = 2 s Ym = 2
2 2

“Xm =2, Ym =7

E(Xm ’ Ym) = (11 1)

For diagonal BD,

p oty o
2 2
~X=2-1,y=2-0

~x=1landy =2

Hence, our fourth vertex is D(1, 2)
6. Question

The points (3, -4) and (-6, 2) are the extremities of a diagonal of a parallelogram. If the third vertex is (-1, -3). Find
the coordinates of the fourth vertex.

Answer

Let three vertices be A(3, -4), B(-1, -3) and C(-6, 2) and fourth vertex be D(x, y)

It is given that quadrilateral joining these four vertices is parallelogram.

~0ABCD is parallelogram

We know that diagonals of parallelogram bisect each other, ie midpoint of the diagonals coincide.
Let E(xm , Ym) be the midpoint of diagonals AC and BD.

By midpoint formula,

_ Xyt Hy _ ¥at¥e
= LY =

2 2

For diagonal AC,

_ 3+(-6) _ —d+2
m 2 r’m 2



Xm

4 EQm  Ym) = (3 -1)

For diagonal BD,

j_—1+:~: _1_—3+],r
z oz ' 7Tz
“X=-3+1,y=-2+3
X =-2andy =1

Hence, our fourth vertex is D(-2, 1)
7. Question

Find the ratio in which the point (2,y) divides the line segment joining the points A (-2, 2) and B ( 3, 7). Also, find the
value of y.

Answer

Here, given points are A (-2, 2) and B ( 3, 7) and let the point dividing the line joining two points be C(2,y).

B=(3.7)
n
C(2y)
m
A=(22)
Let the ratio be m:n
By section formula,
_ M +nx _ my,+ny;

/
m+n m+n

For point C(2,y),

_ mx3+n %(-2)

= (1)

m+n

mx7+n x 2

Andy = -(2)

m+n

Solving 1 for finding ratio between m and n,

m x3+n x(—2
5 - (-2)

m+n
2(m + n) = 3m -2n
2m + 2n = 3m - 2n
~m =4n

m 4

n



~m:n=4:1
Now solving for equation 2, where m=4andn =1

mx7+n x 2

m+n

4 XT+HLI X2
4+1
28+2

3
a0
Y =T
b=
~y =6

Hence, our point is (2, 6)

8. Question

IfA (-1, 3),B (1, -1) and C (5, 1) are the vertices of a triangle ABC, find the length of the median through A.
Answer

Here given vertices of triangle are A (-1, 3), B (1, -1) and C (5, 1).

Let D, E and F be the midpoints of the sides BC, CA and AB respectively.

A=(1,3)

B=(1,-1)

We need to find length of median passing through A, ie distance between AD.
Let point D = (X, y)
By midpoint formula,

Xy +Hg _ ¥atye
LY =

2 2

For midpoint D of side BC,

1+5 _-141

«D(x,y)=(3,0)

Now, by distance formula,

XY = \r’l(xz —X)2+ (¥, —yy )?

For AD,

AD = J(3 —(-1)" + (0—3)2



AD = /25
~AD = 5 units

Hence, the length of the median through A is 5 units

9. Question
If the coordinates of the mid-points of the sides of a triangle are (1, 1), (2, -3) and (3, 4), find the vertices of the

triangle.

Answer
Let A(X1, Y1), B(x2, y2) and C(x3, y3) be the vertices of triangle.

Bxs y3)

Clxy. ¥3)
Let D(1, 1), E(2, -3) and F(3, 4) be the midpoints of sides BC, CA and AB respectively.

By midpoint formula.

_ Xt _ ¥it¥e
2 ! 2
For midpoint D(1, 1) of side BC,
1= Xzt Hg _ Yz+*¥a
2 ! p

For midpoint E(2, -3) of side CA,

Xy +H +
)= Mit¥e 3 Yatds
2 2

“Xy+ Hy=4andy,; +¥53 =-6..(2)

For midpoint F(3, 4) of side AB,

_ Yit¥a

Xy + Mo
4 >

3 =
2
Xl + Hz = 6 and yl + yz =8 (3)

Adding 1,2 and 3, we get,



Nt X F Mg P X+ H,=2+4+6
Andy, +y;+ ¥y +ys+ ¥y +y.=2-6+8
22y + X+ Mg)=12and 2(y; + ¥, +¥3) = 2
¥y t+ X+ Hg=6andy; + ¥, +y3 =1

Xy +2=6andy, +2=2.from1l
~Xy=4andy, =0

Substituting above values in 3,
4+H,=6and0+y, =8

“H, =2andy, =89

Similarly for equation 2,

4+my=6and 0 +yy; =-6

“Hy =2andy; = -6

Hence the vertices of triangle are A(4 , 0), B(2 ,8) and C(0 ,-6)

10. Question

If a vertex of a triangle be (1, 1) and the middle points of the sides through it be (-2, 3) and (5, 2), find the other
vertices.

Answer
Let in AABC, A(1,1), B(x1, y1) and C(x2, y2).

Let D(-2, 3) and E(5, 2) be the midpoints of sides AB and AC respectively.

Blx. ¥}
il
o = —
=5 —
e — o Yol
e p—
) s [ T =
D=t23™ Lo g
SR E={52)
e
A={i1)

By midpoint formula.

_XitH _ ¥Yutya
= LY =

2 2

For mid point D (-2, 3) of side AB,

1+x 1+
2= 1 3= Y1
2 2

1+xy=-4and1+vy;1 =6

xy =-5andyy =5

~ B (x1,v1) =(-5,5)

For midpoint E(5, 2) of side AC,

1+x, _ 1+y:

5= ,2 =
2




l1+xp=10and 1 +y, =4

~X2=9andy, =3

~ C(X2, ¥2) = (9, 3)

Hence other two vertices are B (-5, 5) and C(9, 3)
11 A. Question

In what ratio is the line segment joining the points (-2, -3) and (3, 7) divided by the y-axis? Also, find the coordinates
of the point of division.

Answer

Here y axis divides our line joined by the points (say) A (-2, -3) and B (3, 7).
Let coordinate of the point be C(0, y).

Here our x- coordinate is zero, as point C lie on x-axis.

Let y axis divide AB in ratio of m:n.

Pe-61
/

/A=f2, 3)

By section formula,

Mo+, mys+0y,

14
m+n m+n

For point C(0, y) on line joined by the points A and B,

m ¥3+n %(—2)

= (1
0 m+n (1)
And, y = m X7+n x(—-3) (2)
m+n
Solving 1,

O(m+n) =3m-2n
~3m = 2n
~m:n = 2:3

Now solving for 2, for values m = 2 and n = 3,



_ 2 X743 %(-3)
2+3

ld4—g

y:

[43]

wln
I
—

Ly =
~C(0,y)=(0,1)

11 B. Question

In what ratio is the line segment joining (-3, -1) and (-8, -9) divided at the point (-5, -21 /5)?
Answer

Let given points be A (-3, -1) and B (-8, -9).

Let the point C(-5, -21 /5) divide AB in ratio m:n.

/’A.-(-ﬂ_-l]

rd

/n

Yo
4 Ce=|(5,-42)
r
I”‘:
.-'";
ra
./B = (-8,-9)
By section formula,
_ I +0X, _ mya+ny,
m+n ! m+n

For point C(-5, -21 /5) on the line joined by the points A and B.

m ¥(—8)+nx(—3)

-5 = (1)
m+n
And, _2__1 _m ®(—9)+nx(—1) (2)
5 m+n
Solving 1,

-5(m + n) =-8m - 3n

~5m + 5n =8m + 3n

2n = 3m
m 2
n - 3

Hence, ratio is 2:3.

12. Question

If the mid-point of the line joining (3, 4) and (k, 7) is (x, y) and 2x + 2y + 1 = 0, find the value of k.
Answer

Let A(3, 4) and B(k, 7) and midpoint be C(x, y) which lies on the line 2x+2y+1 =0



LR ]

By midpoint formula,

_ Xy tHg _ ¥atye
= LY =

2 2

For point C(x, y),

3+k 4+7
=—,y=—.(1
X=—",y=- (1)

11
Here = —
I y 2 I
Hence, substituting value of y in given equation of line,
11
2X + 2 X ? +1=0

L 2X =-12
X = -6
Now substituting value of x in equation(1), we get.

_ 3+k

Hence, the value of k is -15.

13. Question

Determine the ratio in which the straight line x - y - 2 = 0 divides the line segment joining (3, -1) and (8, 9).
Answer

Let point be A(3, -1) and B(8, 9).

Let the line divide the line joining the points A and B in the ratio m:n at any point C(x, y)



A= (3,-1)

By section formula,

Mo+, mys+0y,

’
m+n m+n

For point C(x, y),

m x8+n %3 m X9+n x(—1)}
m+n ! m+n
8m+3n 9m-n
m+n m+n

Now, substituting value of x and y in equation x -y -2 =0,

S8m+3n 9m-—n

2=0

m+n m+n

Sm+3n—-9m+n-2m-—2n

=0

m+n
~-3m +2n =0

m 2

n 3

~m:n=2:3

Hence, the line divides the line segment joining A and B in the ratio 2:3 internally.

14. Question

Find the ratio in which the line segment joining (-2, -3) and (5, 6) is divided by (i) x-axis (ii) y-axis. Also, find the

coordinates of the point of division in each case.
(i) x-axis
Answer
(i) x-axis

Let our points be A(-2, -3) and B(5, 6).

Let point C(x, 0) divide the line formed by joining by the points A and B in ratio of m:n.



B = (5,6)

A= (2-3)

By section formula,

Mo 10X, my s +0y,;

m+n ! m+n
For point C(x, 0)

_ mx5+n X(-2) 0= m x6+n x(—3)

m+n ! m+n
Solving for y coordinate,

0= m x6+n x(—3)

m+n

~6m-3n=0

Now solving for x coordinate, withm =1and n = 2,

1 x 542 x(-2)
1+2

5—4

S X=E —
3

1
X ==
3

Hence, the coordinates of required point is C(El , 0)

(ii) y-axis.
Let our points be A(-2, -3) and B(5, 6).

Let point C(0, y) divide the line formed by joining by the points A and B in ratio of m:n.



B =(56)
’_/'r
/
'/
s
B
¥
’/
/ n
it
g
y
-’/
Vi
;".
; ALy
/(rn
s
f/
[ ]
A=(2,-3)
By section formula,
MMy +1Ky _ myg+ny
m+n ! m+n
For point C(0, y)
0= m x5+4n x(—2] _ mx6+nx(-3)
m+n ! y m+n

Solving for x coordinate,

m x5+ n x(—2
0= (=2)

m+n
~5m-2n=0

m

n

LAiR I o

~sm:n=2:5
Now solving for y coordinate, with m =2 and n = 5,

_ 2 X6+ 5 x(-3)
245

Hence, the coordinates of required point is C(( , _—f)

15. Question
Prove that the points (4, 5), (7, 6), (6, 3), (3, 2) are the vertices of a parallelogram. Is it a rectangle.
Answer

Let given points be A(4, 5), B(7, 6), C(6, 3), D(3, 2) and let the intersection of diagonals be E(Xm , Ym )



B={7.6

b=(32)
By midpoint formula.

_ Xyt Hg _ ¥ty
= LY =

2 2

For midpoint of diagonal AC,

4+6 5+3
X = — = —
1 . 1 Y1 2
10 8
SX =—=5 :—=4
1=7 Y1 2

~ midpoint of diagonal AC is (x1, Y1) = (5, 4) ...(1)

For midpoint of diagonal BD,

T+3 6+2
X = — = —
2 2 ' Y2 5
10 8
& X =—=5 =—=4
2 2 Y2 5

~ midpoint of diagonal BD is (X3, y2 ) = (5, 4) ...(2)
Here, from 1 and 2 we say that midpoint of both the diagonals intersect at same point, ie (5, 4)
But our intersection of diagonals is at E, which means that midpoint of diagonals intersect at single point, ie E(5, 4)

We know that if midpoints of diagonals intersect at single point, then quadrilateral formed by joining the points is
parallelogram.

Hence, our cABCD is parallelogram.
Now, we shall check whether cABCD is rectangle.
If the lengths of diagonals are same, then given quadrilateral is rectangle.

By distance formula,

XY = \.fl(xz —%X)2+(y, —yy )?

For diagonal AC,

AC=[(6—4)2+(3—5)2

- ViT4

24/2 units

For diagonal BD,



AC=[(7-3)2+(6—2)2
=16 + 16
= 44/2 units.

Here, AC # BD, hence oABCD is not rectangle.

16. Question

Prove that (4, 3), (6, 4), (5, 6) and (3, 5) are the angular points of a square.
Answer

Let given points be A(4, 3), B(6, 4), C(5, 6) and D(3, 5).

C=(56)
..-’""--. \
D=(3,5
SE \
o« B
\ \
LY
L X
\' ..\
\‘\ 7 B (64)
\| -1
Ao (4, 3)

By distance formula,

XY = \r’l(xz —X1)2+(y; — ¥y )?

For AB,

AB = .[(6—4)2+ (4—3)2

- VaF1

/5 units.

For BC,

BC=,(5-6)2+(6—4)2
=J1i+4
=4/5 units.

For CD,

CD =/(3—-5)2+(5—6)2

- VIT1

/5 units.

For AD,

AD = [(3—4)2 + (5 —3)2



- yiT3

=,/5 units.
Here, we can observe that cABCD is a parallelogram.

Now,

For diagonal AC,

AC=[(5—-4)2+(6—3)2
=Jy1+9
= /10 units.

For diagonal BD,

BD =./(3—6)2+ (5 —4)2
=\y9+1
= /10 units.

~ AC = BD, which means diagonals are equal.

We know that quadrilateral in which all sides are equal and diagonals are equal, is a square.
~oABCD is a square.

17. Question

Prove that the points (-4, -1), (-2, -4), (4, 0) and (2, 3) are the vertices of a rectangle.
Answer

Solution : Let the given points be A(-4, -1), B(-2, -4), C(4, 0) and D(2, 3).

D=(23)

"
¢ y Cm 40
- . (4,0

B = {-2 4

Use distance formula, /(x, — x,)2 + (y, — ¥, )2

For AB,



AB = [(“2— (—4))7 + (<4~ (—D))?

= J(—2+ 42 (=4 +1)?
= J(2)7+ (-3)2

- J3F9

=y/13 units

For BC,

5 = (&= (D)2 (0— (802 =/ (4 +2)* 4 (0 + 4)°
=436+ 16
= /52 units

CD=J2-1?+3-07 =(2°+(3)

=\.4+9

:

=4/13 units

For AD,

AD = [Z—(—4)2+(B-(-D)2 = \/(2 +4)2 4 (341)
= J36 + 16
= /52 units

Also, for diagonal AC,

AC= =02+ (0= (D =4/ (4+4)>+ (0 +1)°
— B+
= /65 units

For diagonal BD,

o0 = (@ (D7 F BB =/ (242)° + (34 4)
=4/16 +49
= /65 units

We can observe that AB = CD and BC = AD and also diagonal AC = BD.

=+/6%+47

=6+ (47

— (82 +(1)?

—J(4)? +(7)?

We know that a quadrilateral whose opposite sides are equal and the diagonal are equal is rectangle.



~ ABCD is a rectangle.

18. Question

Find the lengths of the medians of a triangle whose vertices are A (-1,3), B (1,-1) and C(5,1).
Answer

Here given vertices are A(-1,3), B (1,-1) and C(5,1) and let midpoints of BC, CA and AB be D,E and F respectively.

~ C=(51)
B

B=(1,-1)

By midpoint formula.

_ Myt Hp ¥ty
= LY =

2 2

For midpoint D of side BC,

145 —1+1

2/ z
. 0

z’y )

~midpoint of side BC is D(3, 0)

For midpoint E of side AB,

145 341
2 Y 2
4 4

X=_Iy=5

~midpoint of side AB is E(2, 2)

For midpoint F of side CA,

—1+1 3-1
X= = —

2 Y 2
X_o _ 2

2’y )

~midpoint of side CA is F(0, 1)

By distance formula,

XY = \r’l(xz —X)2+ (¥, —yy )?

For median AD,

AD = [B= (D)7 + (0-3)°



= 5 units

For median BE,

BE= /212 + (2 (D)’

=41+9

V10 units.

For median CF,

CF=/(0-5)2+(1—1)2

V25

5 units

19. Question

Three vertices of a parallelogram are (a + b, a - b), (2a + b, 2a - b), (a - b, a + b). Find the fourth vertex.
Answer

Let A(a + b, a-b), B(2a + b, 2a - b), C(a - b, a + b) and fourth vertex be D(x, y).

B{Za+b,Za- b
'm'u b, 22 - b)

’ Cla-ba+h)
s
D )
It is given that oABCD is parallelogram.
We know that diagonals of parallelogram bisect each other.

Let intersection of diagonals be E(Xm, Ym )

By midpoint formula.

o = Xy + Mz _ Yit¥a
m 2 rym 2

For midpoint E of diagonal AC,

a+b+a-b a—b+a+b

X =
m 2 1 Ym 2

-'-Xm=aIYm=a
"‘E(er Ym ) = (al a)
For diagonal BD,

_ Za+b+x a= 2a—b+y

I

2 2




~2a=2a+b+x,2a=2a-b+y
~X=-bandy=>b

Hence, the fourth vertex is D(-b, b)
20. Question

parallelogram.

If two vertices of a parallelogram are (3, 2), (-1, 0) and the diagonals cut at (2, -5), find the other vertices of the
Answer

Let the vertices be A(3, 2), B(-1, 0), C(x1, y1 ) and D(x2, y2 )
Let diagonals cut at E(2, - 5).

As(37)
-
i

s

[:[x'_-]"]:l

We know that mid points of diagonals of parallelogram coincide
By midpoint formula.

X = Xy + Mz _ Yit¥a
m 2 rym 2

For midpoint E of diagonal AC,

3+x 2+
2=""1 5=
2 2

Xy =1landy; =-12
~ coordinates of C are (1, -12)

For midpoint E of diagonal BD,

5= =1+ X,

5= 0+¥o
2 I

2

~ X2 =5and y; =-10

~ coordinates of D are (5, -10)

21. Question

If the coordinates of the mid-points of the sides of a triangle are (3, 4), (4, 6) and (5, 7), find its vertices.



Answer
Let A(x1, Y1), B(x2, y2) and C(x3, y3) be the vertices of triangle.
Let D(3, 4), E(4, 6) and F(5, 7) be the midpoints of sides BC, CA and AB respectively.

Al ¥7)

;'{ /;
/A
S D=8
//
y
/ i

g, ¥a)

By midpoint formula.

_ Xyt Hg _ ¥atye
= LY =

2 2

For midpoint D(3, 4) of side BC,

Ko+ H +
3= a’4=}'z}'a
2 2

For midpoint E(4, 6) of side CA,

X;+H +
q4 =21 3’6=FJ.}'3
2 2

“Xy+ Hg=8andy; +y; =12 ..(2)
For midpoint F(5, 7) of side AB,

Ky +H +
5 =X z,7=}"J_}'2
2 2

“Xy+ H;=10and y; +y, = 14 ..(3)
Adding 1,2 and 3, we get,
X+ Mg+ X+ Mg+ X+ Ky, =6+8+ 10

Andy, +¥y;+ ¥y, +Vs+ ¥V, Ty, =8+ 12+ 14



22Xy + X, + Mz)=24and 2(y, + vV, T V3) = 34
¥y +H X+ Mg =12andy, + ¥, H V3 =17

X, +6=12andy, +8 =17 ..from 1
~X;=6andy; =9

Substituting above values in 3,

6+H, =10and 9 +y, = 14

“Hy=4andy, =5

Similarly for equation 2,

6+Hy;=8and9 +yy =12

~“Hg=2andy; =3

Hence the vertices of triangle are A(6 , 9), B(4 ,5) and C(2 ,3)

22. Question

The line segment joining the points P (3, 3) and Q (6, - 6) is trisected at the points A and B such that A is nearer to P.
If A also lies on the line given by 2x + y + k = 0, find the value of k.

Answer

Here, given points are P (3, 3) and Q (6, - 6) which is trisected at the points(say) A(x1 , Y1) and B(xy , y>)such that A
is nearer to P.

2ry+k=0
P={33)

Q'
\\
\
\.-\A %, v,)

Q= (6.-6)

By section formula,

Mg 03X, my s +0y,

I
m+n m+n

For point A(xy , y1) of PQ, wherem =2 andn =1,

i = 2 %341 X6 _ 2 %3+1 %(-6)
1 2 't 2+1
S X1 = 4 ;Y1 = 0

~Coordinates of A is (4,0)



It is given that point A lies on the line 2x + y + k = 0.
So, substituting value of x and y as coordinates of A,
2x440+k=0

~k=-8

23. Question

If the points (-2, -1), (1, 0), (x, 3) and (1, y) form a parallelogram, find the values of x and y.

Answer

Let given points be A(-2, -1), B(1, 0), C(x, 3), D(1, y) and let the intersection of diagonals be E(Xm , Ym )

It is given that cABCD is a parallelogram.

il 3

____.--"'_-----’ F
11(!,-'- 2

S
rd

I
1
A
AEX Y
P '"T]I
I
I

A na
i B =(1,0)
i =

’_.'a

it R

L

oLk

o
A=(2,-1)

By midpoint formula.

_ Xyt Mg _ ¥ty
= LY =

2 2

We know that midpoint of parallelogram coincide.

« Midpoint of AC = Midpoint of BD

x-2 3-1 1+1  y+0
=y =)=0(—=,=7")
2 2 2
x—2  1+1 3-1  y+0
- = and — ==
2 2 2 2

X =4andy =2
24. Question

The points A (2, 0), B (9, 1), C (11, 6) and D (4, 4) are the vertices of a quadrilateral ABCD. Determine whether
ABCD is a rhombus or not.

Answer
Here given points are A (2, 0), B (9, 1), C (11, 6) and D (4, 4).

For a quadrilateral to be rhombus, all sides must be equal.



-
A=(2.0)

By distance formula,

XY = \r’l(xz %02+ (y, —y1 )?

For side AB,

AB =./(9—-2)2+(1-0)2

For BC,

BC=/(11—-9)2 + (6 —1)2

= /29 units

CD = /(11— 4)2 + (6 —4)2

=49 + 4

/53 units.

AD = [(4—2)2+(4—0)2

- AT 16

= /20 units.

Here all sides are unequal.

Hence oABCD is not a rhombus.

25. Question

If three consecutive vertices of a parallelogram are (1, -2), (3, 6) and (5, 10), find its fourth vertex.
Answer

Let three vertices be A(1, -2), B(3, 6) and C(5, 10) and fourth vertex be D(X, Yy)

It is given that quadrilateral joining these four vertices is parallelogram, ie cABCD is parallelogram.

We know that diagonals of parallelogram bisect each other, ie midpoint of the diagonals coincide.



€ =(510)

/
J
A

=(1-2)

Let E(Xm , Ym) be the midpoint of diagonals AC and BD.

By midpoint formula,

_ Xy tHg _ ¥atye
= LY =

2 2

For diagonal AC,

1+5 —-2+10
Xm = 2 rYm = 2
6 8
"‘Xm=E,Ym=E

E(Xm ’ Ym) = (31 4)

For diagonal BD,

3=3+H,4=w
2 2
~X=6-3,y=8-6

3andy =2

x
Il

Hence, our fourth vertex is D(3 , 2)
26. Question

If the points A(a, -11), B(5, b), C(2, 15) and D(1, 1) are the vertices of a parallelogram ABCD, find the values of a
and b.

Answer

Given: the points A(a, -11), B(5, b), C(2, 15) and D(1, 1) are the vertices of a parallelogram ABCD.



To find: the values of a and b.

Solution:Given points are A(a, -11), B(5, b), C(2, 15) and D(1, 1) and let the intersection of diagonals be E(xm , Ym
)

It is given that cABCD is a parallelogram.

| e
- H::':.rra‘lellnal
e G
\ b
| |
ECHE
".III ]

By midpoint formula.

_ Xyt Hy _ ¥at¥e
2 !

2

We know that midpoint of parallelogram coincide.
~ Midpoint of AC = Midpoint of BD

at2 15-11 5+1 b+l
SO )= )
2 2 2 2
at?  5+1 15-11  b+1
fm = and —— =

2 2z

a+2 6 ., 15—11 _ b+
:}-—2 =5 and 5 — 9
:>_(.I.T|—2

T b+1
5 — 3and 5= 5



= — ”+ =3 and 2=—— b+1

2 2
>a+2=6and4=b+1a=6-2and4-1=>b
>a=4and3 =D
ra=4andb =3
27. Question

If the coordinates of the mid-points of the sides of a triangle be (3, -2), (-3, 1) and (4, -3), then find the coordinates
of its vertices.

Answer
Let A(x1, Y1), B(x2, y2) and C(x3 , y3) be the vertices of triangle.

Let D(3, -2), E(-3, 1) and F(4, -3) be the midpoints of sides BC, CA and AB respectively.

Citta, ¥q)
‘\.
E={3, n\.
. T~
Al -'] ~ ‘-~.__1_\
., b
., . D={32)
%
) e
.-
S
Fa= (4,3 ™0
e
<

Bl yo)

By midpoint formula.

Xy + Hg _ ¥at¥e
LY =

2 2

For midpoint D(3, -2) of side BC,

KXo+ H +
3 =T 5 Y2lis
2 2

“¥,+ Mg =6andy, +y; =-4..(1)
For midpoint E(-3, 1) of side CA,

Xy + ¥ +
3= a,1=}"1.}":;
2 2

“Hy+ Hg=-6andy; +y; =2..(2)
For midpoint F(4, -3) of side AB,
Xy +Hy 3= ¥it¥s

4=20"%
2 2

Adding 1,2 and 3, we get,

Ady, +y;, + ¥Vt V3 + V; +¥.=-4+2-6



22Xy + X, + Hz)=8and 2(y; + ¥, +¥3) = -8

“Xy X+ Hy=4andy; + ¥, +y;=-4

X;+6=4andy, -4 =-4..from1l

~¥y=-2andy; =0

Substituting above values in 3,

-2+ M, =8and 0 +y, =-6

~“Hy;=10and y, = -6

Similarly for equation 2,

-2+ Hy=-6and0 +yy; =2

“Hg=-4andyg =2

Hence the vertices of triangle are A(-2 , 0), B(10 ,-6) and C(-4 ,2)

28. Question

Find the lengths of the medians of a A ABC having vertices at A (0,-1), B (2, 1) and C (0, 3).
Answer

Here given vertices are A (0,-1), B (2, 1) and C (0, 3) and let midpoints of BC, CA and AB be D,E and F respectively.

By midpoint formula.

C={0,3)

A={0,-1)

_ Xyt _ ¥utye
2 ! 2

For midpoint D of side BC,

X =

~midpoint of side BC is D(1, 2)
For midpoint E of side AB,

0+0 —1+3
X =— =
2 Y 2




2
X=_Iy=5

~midpoint of side AB is E(0, 1)

For midpoint F of side CA,

240 1-1
X=—,y=—

~midpoint of side CA is F(1, 0)

By distance formula,

XY = \r’l(xz —X1)2+ (¥, — ¥y )?

For median AD,

A0 = [(T=0)7 ¥ 2= (~D)?
=4/1+9
= /10 units

For median BE,

BE = /(0 —2)2+(1—1)2

V4

= 2 units.

For median CF,

CF=/(1-0)2+ (0—3)2

=4/1+9

= /10 units

29. Question

Find the lengths of the medians of a A ABC having vertices at A (5, 1), B (1, 5), and C(-3, -1).
Answer

Here given vertices are A (0,-1), B (2, 1) and C (0, 3) and let midpoints of BC, CA and AB be D,E and F respectively.
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G w(a,-1)
By midpoint formula.

_ Xyt Hg _ ¥atye
= LY =

2 2

For midpoint D of side BC,

_—341  —145
) Y 2

« = 2 4
z’y 2

~midpoint of side BC is D(-1, 2)

For midpoint E of side AB,

—345 -1 +1
X= =

2 Y 2
X_z _ o

2’y )

~midpoint of side AB is E(1, 0)
For midpoint F of side CA,

1+5 1+5

2

X Y =

6
X = ,Y=E

~midpoint of side CA is F(3, 3)

By distance formula,

XY = \r’l(xz —X)2+ (¥, —yy )?

For median AD,

AD = [(-1-5)2+ (2—1)2

=\36+1

V37 units

For median BE,

BE=/(1-1)2+(0—5)2



= \."E

= 5 units.

For median CF,

CF=/(-3-3)2+(-1-3)2
=36+ 16
= 24/13 units

30. Question

Find the coordinates of the points which divide the line segment joining the points (-4, 0) and (0, 6) in four equal
parts.

Answer
Let given coordinates be A(-4, 0) and B (0, 6).

We need to divide AB into 4 equal parts, ie first we need to find midpoint of AB, which will be D and then find out
midpoints of AD and DB respectively.

Let required points be C(x1 , Y1 ), D(Xm , Ym ) and E(x , y2 )

B=(0,6)

Efx vl Y:J:I

DEP:iﬂ' ?I'I'l)

Gl yy)

A= (-4,0)

By midpoint formula.

_ Xyt Hy _ ¥at¥e
= LY =

2 2

For midpoint D of AB,

_ —4+0 _ 046

X = =
m 2 rYm >

S Xm = -2 and Ym = 3
D(Xm 7 Ym ) = (_2 ’ 3)

Now, for midpoint C of AD,

—4-2 0+3
Xy = —— ="
1 5 1 Y2 3

x1 =-3andyqy =1.5
~C(x1,vy1) = (-3, 1.5)

For midpoint E of DB,



0-2 6+3

X2=—,Y2=T

~Xp =-landy,; =4.5

~D(X2,Yy2)=(-1,4.5)

Hence the co-ordinates of the points are (-3, 1.5), (-2, 3) and (-1, 4.5)
31. Question

Show that the mid-point of the line segment joining the points (5, 7) and (3, 9) is also the mid-point of the line
segment joining the points (8, 6) and (0, 10).

Answer

Let given points be A(5, 7) and B(3, 9) and the points of other segment line be C(8, 6) and D(0, 10)

.
"‘\R.H
D = (0, 10) T R
S
% T

By midpoint formula.

_ Xy tHg _ ¥atye
= LY =

2 2

For midpoint of AB,

5+3 7 +9
X = = —
2 Y 2

x=4andy = 8 ..(1)
Now for midpoint of CD,

2+ 0 & +10
=25 4=
2 2

(say)

~e=4andd = 8..(2)

Here from 1 and 2 we say that midpoints of AB and CD are same, ie they coincide.

32. Question

Find the distance of the point (1, 2) from the mid-point of the line segment joining the points (6, 8) and (2, 4).
Answer

Let D(x, y) be the midpoints of A(6, 8) and B(2, 4). Let our third given point be C(1, 2).

By midpoint formula.

_ Xyt Hg _ ¥at¥e
= LY =

2 2

For midpoint D of AB,

642 g8+4
X = Tand y=——

~x=4andy =6

=D(x, y) = (4, 6)



Now to find distance between C and D,

By distance formula,

XY= (%= %)%+ (y2 —y1 )2

For CD,

D= f(4-1)2+(6—2)2
=\9+16

= 5 units

33. Question

If Aand B are (1, 4) and (5, 2) respectively, find the coordinates of P when AP/BP = 3/4.
Answer

Given points are A(1, 4) and B(5, 2). Let P be (x, y) and given ratio is 3:4.

A=l 4)
™
F~__Pky
.
k>
T~_B=(52)
-
By section formula,
_ Iz +0X, _ myz+ny,
m+n ! m-+n
For point P on AB,
_ 5 x3+1 x4 3 x2+4 x4
3+a 'Y 3+4
19 22
X=—andy=—
7 7
. . . 19 22
Hence, required coordinates is P(? = )

34. Question
Show that the points A (1, 0), B (5, 3), C (2, 7) and D (-2, 4) are the vertices of a parallelogram.
Answer

Let given points be A (1, 0), B (5, 3), C (2, 7) and D (-2, 4) and let the intersection of diagonals be E(Xm , Ym )



i
e ‘\“\
.-f.f Ir \\
> : |
t,. '
2t i
D= (24~ ' \
.5-' o r_. A
N [T e | \>-
] . '
| 7 B = (5 3)
! -~
i &
hY ! ’
. -
X I &
S i //
U
=0
By midpoint formula.
= Xy + Mo = Yit¥e
2 ' ?

For midpoint of diagonal AC,

1+2 0+7
Xy == ,y1=—
1 5 ! 1 5
X _3 7
X1 21Y1=2
(1)

~ midpoint of diagonal AC is (x1, Y1) = (g, g)

For midpoint of diagonal BD,

. midpoint of diagonal BD is (X3, y> ) = (g, g) ..(2)

37
Here, from 1 and 2 we say that midpoint of both the diagonals intersect at same point, ie (E’ 5)

37
But our intersection of diagonals is at E, which means that midpoint of diagonals intersect at single point, ie E(E’ E)

We know that if midpoints of diagonals intersect at single point, then quadrilateral formed by joining the points is

parallelogram.
Hence, our cABCD is parallelogram.

35. Question
Determine the ratio in which the point P (m, 6) divides the join of A(-4, 3) and B(2, 8). Also, find the value of m.

Answer
Here, given points are A (-4, 3) and B ( 2, 8) and let the point dividing the line joining two points be P(m,6).

Let the ratio be m:n



B = (2, 8)

/_/ n
L/ P(m,6)
//
L ]
A=(43)
By section formula,
_ iy +nx, _ myo+ny;
m+n ! m+n
For point P(m,6),
m x2+n x(—4]
=——..(1)
m+n
X84 x 3
And 6 = —"27° (2)

m+n

Solving 2 for finding ratio between m and n,

m x8+mn x 3
6 -_——

m+n
6(m + n) = 8m +3n

6m + 6n = 8m +3n

~2m = 3n
.m_32
“11_2
m:n=3:2

Now solving for equation 1, where m = 3 and n =2

_ mx2+n X(—4)

m+n

6—8

5

S~ m =

aldy

-2
Hence, our point is (—, 6)
=

36. Question

Determine the ratio in which the point (-6, a) divides the join of A(-3, 1) and B(-8, 9). Also find the value of a.
Answer

Here, given points are A(-3, 1) and B(-8, 9) and let the point dividing the line joining two points be C(-6,a).

Let the ratio be m:n



ﬂi:am
n
\

N
® 6. 8)

\n
WA= 31

By section formula,

Mo 10X, my s +0y,;

m+n ! m+n
For point C(-6,a),

_m ®(—8)+n x%(-3) (1)

m+n

And a = m X%4n x 1 (2)

m+n
Solving 1 for finding ratio between m and n,

6 = m ¥(—8)+n x(—3)

m+n
-6 (m + n) =-8m -3n

6m + 6n = 8m + 3n

2m = 3n
m_3
11_2
m:n=3:2

Now solving for equation 2, where m = 3 and n = 2

m x%+n x 1

m+n

3XI+I N1
3+2

a=

27+2

ra
0,

Ull

.29
~ value of a is —
=1

37. Question

The line segment joining the points (3, -4) and (1, 2) is trisected at the points P and Q . If the coordinates of P and Q
are (p, -2) and (5/3, q) respectively. Find the values of p and q.

Answer

Let given points be A(3, -4) and B(1, 2) , which is trisected at points P(p, -2) and Q(5/3, q).



B=(1.2)

Fip.-2)

Q(5/3, q)

A= (3, 4)

By section formula,

x = D21 LY = R EY point P divides the line in 1:2 and Q divides the line in 2:1.
m+n m+n

For point P(p, -2)of AB, where m = 1 and n = 2,

1 %143 %2 5= 2 X142 X(—4)

I

1+2 1+2

Solving for p,
p=1

3
For point Q(5/3, q) of AB, where m =2 and n =1,

2 ®1+1 %3 _ 2 %2+1 x(—4)

I

5 —_—
2 2+1 2+1

Solving for q,

4-4
q=—

~q = OHence, the value of p and q are gand 0 respectively.

38. Question

The line joining the points (2,1) and (5,-8) is trisected at the points P and Q. If point P lies on the line 2x - y + k = 0.
Find the value of k.

Answer

Here, given points are P (2, 1) and Q (5, - 8) which is trisected at the points(say) A(x1 , Y1) and B(xy , yz)such that A
is nearer to P.



Q=(5-8)

By section formula,

mHy +NX, my o +ny,

m+n ! m+n
For point A(x1 , y1) of PQ, wherem =1 and n = 2,

_ 1x5+2 x2 _ 1x(-g)+2x1
X1 = Y1 =
1+2 1+2

“X1=3,y1 =-2

~Coordinates of A is (3,-2)

It is given that point A lies on the line 2x -y + k = 0.
So, substituting value of x and y as coordinates of A,
2x3-(2)+k=0

~k=-8

39. Question

If A and B are two points having coordinates (-2, -2) and (2, -4) respectively, find the coordinates of P such that AP =
i AB.

7

Answer

Given points are A(-2, -2) and B(2, -4). Let P be (X, y)

Here given that AP = EAB.

But AB = AP + BP
~7AP = 3AB
7AP = 3(AP + BP)
~4AP = 3BP

AP _ 3

"BP 4
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T (2. -1)
By section formula,
_ Iy +0x, _ mya+nyy
m+n ! m+n

For point P on AB, where m = 3 and n =4

3 % 244 x(-2) y= 3 ®(—4)+4 x(-2)

li

344 3+4

—2 —
7 ondy ==

X

. . . -2 -20
Hence, required coordinates is P(7 , T)

40. Question

Find the coordinates of the points which divide the line segment joining A (-2, 2) and B (2, 8) into four equal parts.
Answer

Let given coordinates be A(-2, 2) and B (2, 8).

We need to divide AB into 4 equal parts, ie first we need to find midpoint of AB, which will be D and then find out
midpoints of AD and DB respectively.

Let required points be C(x1, Y1 ), D(Xm , Ym ) and E(x, y2 )

lll:xsn' Ym:l

Cixy.¥y)

A=(2.7)

By midpoint formula.

_ Xyt Hy _ ¥atye
= LY =

2 2

For midpoint D of AB,

—2+2 2+8
Xm = =

2 rYm = 2

~Xm=0andyyp =5

~D(Xm,Ym)=(0,5)



Now, for midpoint C of AD,

—2+0 _ 245

Xy =
1 5 1 Y2

7
X1 =-landy; =3

£C(x1, y1) = (-1, 2)

For midpoint E of DB,

2+0 8+5

X, = = — 2%
2 > 1 Y2 2

H Xy = 1andy2=§
13
~EBlx2,y2) =01, 7))

Hence the co-ordinates of the points are (-1, g) ,(0,5)and (1, ?)

41. Question

A (4, 2),B (6, 5) and C (1, 4) are the vertices of A ABC.

(i) The median from A meets BC in D. Find the coordinates of the point D.
(ii) Find the coordinates of point P on AD such that AP : PD = 2 :1.

(iii) Find the coordinates of the points Q and R on medians BE and CF respectively such that BQ : Q=2 :1and CR:
RF=2:1.

(iv) What do you observe?

Answer

(i) The median from A meets BC in D. Find the coordinates of the point D.
Here given vertices are A (4, 2), B (6, 5) and C (1, 4).

B= (65

c UA}‘\\

By midpoint formula.

X+ _ ¥at¥z

z 2

For midpoint D of side BC,

6+1 o+4

X Y =7

7
5,Y=

[ ]



7
Hence, the coordinates of D are (E ,

[ T Y]

)

(i) Find the coordinates of point P on AD such that AP : PD = 2 :1.

B = (65
-

By section formula,

Mo+, mys+0y,

’
m+n m+n

For point P on AD, wherem=2andn =1

2 %2 41 x4 2 %241 x2
x="2""" y =250
241 241

11 11
aX == andy = =y
(iii) Find the coordinates of the points Q and R on medians BE and CF respectively such that BQ : QE =2 :1and CR :
RF =2:1.
By midpoint formula.

_ Xyt Ho _ Y1ty
= LY =

2 2

For midpoint E of side AC,

_ 1+4 442
2 /! )

Wz 3 6
z’y 2

Hence, the coordinates of E are (g , 3)

For midpoint F of side AB,

6+4 542

2 /! 2
(oo 7

2,y z

7
Hence, the coordinates of F are (5 , E)

By section formula,

Mo 11X, my s +0y,

14
m+n m+n

For point Q on BE, where m =2andn =1

2x2411x8 2 % 3+1 x5
x =Xz =

2+1 z+1



11 11
.'.X=—andy=—
3 3

For point R on CF, wherem=2andn=1

2x5+1x1 2 %241 %4
=—, — a
2+1 2+1

11 11
~Xx=—andy=—
3 3

(iv) What do you observe?

We observe that the point P,Q and R coincides with the centroid.
This also shows that centroid divides the median in the ratio 2:1
42, Question

ABCD is a rectangle formed by joining the points A (-1, -1), B (-1, 4), C (5, 4) and D (5,-1). P, Q, R and S are the
mid-points of sides AB, BC, CD and DA respectively. Is the quadrilateral PQRS a square? a rectangle? or a rhombus?
Justify your answer.

Answer

Here given that A (-1, -1), B (-1, 4), C (5, 4) and D (5,-1).Also P, Q, R and S are the mid-points of sides AB, BC, CD
and DA respectively.

B={1,4) a C=(54)
® )

A=(1,-1) s D (5-1)

By midpoint formula.

_ Xyt Hy _ ¥at¥e
= LY =

2 2

For midpoint P of side AB,

—1-1 —1+4
X=—",y=

2 2

x
Il

3
-1 = —
Y 2

3
Hence, the coordinates of P are (-1, E)

For midpoint Q of side BC,

—1+5 4+4
z ! 2
XxX=2,y=4

Hence, the coordinates of Q are (2 ,4)

For midpoint R of side CD,



3
X=5,Y=E

3
Hence, the coordinates of R are (5, 5)

For midpoint S of side AD,

_ —145 —1-1

I

2 2

XxX=2,y=-1
Hence, the coordinates of S are (2 ,-1)
Now we find length of the length of the oPQRS,

By distance formula,

XY = -\r’l(xz —X1)2+(y, — ¥y )?

For PQ,

PQ=J(2—(—1))2+ (4—3)2

2

61 .
= |=—= units
2

For QR,

QR=J(5—2)2+G —4)2

= 9_’.2
2

= |8 units
2

For RS,

RS = J(2—5)2+(—1 —3)2

= 9+E
2

= |8 units
2

For PS,

s = J@2— (-1y2+ (-1 -2)’



61 .
= |— units
2

Here we can observe that all lengths of oPQRS are equal.

Now for diagonal PR,

R = (s- -0+ (2-2)

(36 +0

6 units

Now for diagonal QS,

QS =(2-2)2+ (-1 —4)2

V0 + 25

5 units

Here in oPQRS, diagonals are unequal.

We know that a quadrilateral whose all sides are equal and diagonals are unequal, it is a rhombus.
Hence, our oPQRS is rhombus .

43. Question

Show that A(-3, 2), B (-5, -5), C (2, -3) and D(4, 4) are the vertices of a rhombus.

Answer

solution: Given points are A(-3, 2), B (-5, -5), C (2, -3) and D(4, 4)

O (4, 4)
—

A=(39 - /

I' C={2-3)

B=(5-5)

Use distance formula

‘\n'llll:XZ — %102+ (y2 —y; )?

For AB ,

AB = [(5—(—3))2+(-5-2)2



= /(=543 +(-5-2)
= J(=2)* + (=7

-ViT49

= /53 units

For BC,

BC= [Z-(5)2+ (3 (5))

= J(2+5P+(=3+5)?

R E

= /53 units

For CD,

o= AT E-(3))?
=.J(4—2) +(4+3)?

= /(2 +(7)?

-ViT 49

= /53 units

For AD ,

AD= (4 —(—3))7+ (4—2)2
=(4+37+(1-2)
= (7) +(2)°

V49 + 4

= /53 units

Here we can observe that all lengths of ocPQRS are equal.

Now for diagonal AC,

AC= [Z— (32 + (3 -2



- '\/(2+ 3)2 +(—3 _2)2

—J(5) + (=57

v25+ 125

\/50units

Now for diagonal BD,

B0 = /@ (57t (4—(-5))

= J(445) +(4+5)
= (9 +(9)?

=481+81

=4/162 unitsAB = BC = CD = AD

And AC # BD

Here in ABCD, diagonals are unequal.

We know that a quadrilateral whose all sides are equal and diagonals are unequal, it is a rhombus.
Hence, ABCD is rhombus .

44, Question

Find the ratio in which the y-axis divides the line segment joining the points (5, -6) and (-1, -4). Also, find the
coordinates of the point of division.

Answer
Let our points be A(5, -6) and B(-1, -4).

Let point C(0, y) divide the line formed by joining by the points A and B in ratio of m:n.

Befld) B ady

A (5,-6)
By section formula,
MmHa +0X, My o +10y,
- m+n ! - m+n
For point C(0, y)
_ mx(-1)+nx5 _ mx({—4)+n x(-6)

m+n ! m+n
Solving for x coordinate,

m ¥({—1)+n x5
0 = mx(1)

m+n



Now solving for y coordinate, withm =5andn =1,

my s +ny;
m+n

—4%53—6

There is no need to solve for x, as our point lies on y-axis

—-13
Hence, the coordinates of required point is C(0 , T)

45. Question

If the points A (6, 1), B (8, 2), C (9, 4) and D (k, p) are the vertices of a parallelogram taken in order, then find the
values of k and p.

Answer

Our given vertices are A(1, -2), B(3, 6) and C(5, 10) and fourth vertex be D(k, p)

It is given that quadrilateral joining these four vertices is parallelogram, ie cABCD is parallelogram.
We know that diagonals of parallelogram bisect each other, ie midpoint of the diagonals coincide.
Let E(Xm , Ym) be the midpoint of diagonals AC and BD.

C=434)
A

¥,

Y L /
w | Bl o)
- /

RS
Pl

By midpoint formula,

Xy + Hg _ ¥at¥e
LY =

2 2

For diagonal AC,

649 441
m 2 ’ Ym 2
v 15 5

m 2 Ym 2

[N
N—r

.
“ E(m s ¥Ym) = (5



For diagonal BD,

15 g2 +k

~k=15-8,y=5-2

~k=7andp=3

Hence, our fourth vertex is D(7 , 3)

46. Question

In what ratio does the point (-4, 6) divide the line segment joining the points A (-6, 10) and B(3, -8)?
Answer

Given points are A (-6, 10) and B(3, -8)

Let the point C(-4, 6) divide AB in ratio m:n.

A=(6,10)

m
P=(4,6)

B=(3,-8)

By section formula,

Mo 11X, my s +0y,

m+n ! m+n
For point C(-4, 6) on the line joined by the points A and B.

m X3 +nx({—6)

-4 = (1
m+n (1)
And, 6 = m %({—8+nx10 (2)
m+n
Solving 1,

-4(m 4+ n) = 3m - 6n
~4m + 4n = -3m + 6n

~7m = 2n

z
n 7
Hence, ratio is 2:7.
47. Question
Find the coordinates of a point A, where AB is a diameter of the circle whose centre is (2, -3) and B is (1, 4).
Answer
Here given that AB is a diameter of the circle whose centre is (say) C(2, -3) and B is (1, 4)

Let A be (%, y)



We know that as C is center, AC = CB or C is midpoint of AB.

B={1.
T 1

- -"-_'

- -
AL, ¥)

By midpoint formula,

_ Xy tHo _ Y1ty
= LY =

2 2

For Center C,

x+1 +4
2=""and-3=L=
2 2

x
Il

4-1landy=-6-4

x
I

3andy = -10
Hence, coordinates of A are (3, -10)
48. Question

A point P divides the line segment joining the points A (3, -5) and B (-4, 8) such that ;_j; = ? If P lies on the line x +

y = 0, then find the value of k.
Answer
Here given points are A (3, -5) and B (-4, 8) .

Let point P be (x, y) which divides AB in ratio of k:1, also point P lieson linex + y =0

By section formula,

mHy +NXy mys+ny;

’
m+n m+n

For point P on the line joined by the points A and B.



X = kox(—4)+1x3 _ kx8+1x(-5)
= LY =

k+1 k+1

Putting in given equation,

kx(—4)+1x3 kx8+1x(-3) _

k+1 ! k+1 _(X' Y)
_ —4k+3 . 8k —8
— I and y = P

Now (x, y) lies on the line x + y = 0

Therefore, the points will satisfy the equation.

Hence,
B+ 1 T E+1 U

-4k+3+8k-8=04k-5=0
~4k =5
+k=5/2

49. Question

Find the ratio in which the point P(-1, y) line segment joining A ( -3,10) and B(6, -8) divides it. Also find the value of
y.

Answer

Here, given points are A ( -3,10) and B(6, -8) and the point dividing the line joining two points is P(-1,y).

Let the ratio be m:n

A=(-1.10)

PL1.Y)

\r-: {6.-8)

By section formula,

Mo 11X, my s +0y,

m+n ! m+n
For point P(-1,a),

1= m X6 +n x{—3) (1)

m+n



m X(—8)+n x 10

Andy = -(2)

m+n

Solving 1 for finding ratio between m and n,

_ m X6 +n x(-3)

m+n
-(m+n) =6m-3n

m+n=-6m + 3n

~7m = 2n
.m_2
“n_?
m:n=2:7

Now solving for equation 2, where m =2 and n =7

_ mx(—8)+nx 10

m+n
_ 2 X(—8)+7 %10
2+7

—-16+70
9

L))
.

o |

~ value of y is 6

50. Question

Points p, Q, R and S divide the segment joining the points A (1, 2) and B (6, 7) in 5 equal parts. Find the coordinates
of the points P, Q and R.

Answer
Here given points are A (1, 2) and B (6, 7) which is divided into 5 equal parts by points P, Q, Rand S

~ AP = PQ= QR = RS =SB

E=(6T)

A=(1,2)

The point P divides the line segment AB in the ratio 1:4.

By section formula,

IMHg 11X, my s +0y,

I
m+n m+n

For point P,



1 x6+4 x1 1 x7+4 x1

I

1+4 1+4

x=2andy =3
~ Coordinate of Pis (2 ,3)

The point Q divides the line segment AB in the ratio of 2:3.

For point Q,
_ 2 x%6+3 X1 _ 2 X743 x1
242 'Y 2+3
x=3andy =4

~ Coordinate of Q is (3 ,4)

The point R divides the line segment AB in the ratio of 3:2.

For point R,
_ 3 x6+2 X1 _3x742x1
32 Y 3+2
X=4andy =5

~ Coordinate of Ris (4, 5)
51. Question

The mid-point P of the line segment joining the points A (- 10, 4) and B (- 2, 0) lies on the line segment joining the
points C (- 9,-4) and D (- 4, y). Find the ratio in which P divides CD. Also, find the value of y.

Answer
Here given points are A (- 10, 4) and B (- 2, 0)and the points of other segment line are C (- 9,-4) and D (- 4, y)

Let the point of intersection between AB and CD be P

/
i )'/ 0(4.y)
A= (-10,4) 4
T~
/ o™
B={2.0)
/ s
$C-(9,4)
."f.
By midpoint formula.
_ XitH -
2 2
For midpoint of AB,
-10-2 4 +0
e= d=——..(sa
e S (say)
e=-6andd=2..(1)
By section formula,
_ Iy +0x, _ mya+ny,

’
m+n m+n

For point P on CD, where ratio is m:n,



m x(—4}+nx(—9) an m Xy +nx{—4)

-6 = d2 =

m+n m+n
Solving for m and n,

=1 ®(—4)+nx(—9)

m+n
~=6(m + n) = -4m -9n

6m + 6n = 4m + 9n

2m = 3n
m_3

n B 2

~ Ratio is 3:2

Now solving for y, where m =3 and n = 2,

_ 3 xy+2x(—4)
3+2

2

~3y-8=10
~ 3y =18

Ly =6

52. Question

Find the ratio in which the point P (x, 2) divides the line segment joining the points A (12,5) and B (4, -3). Also, find
the value of x.

Answer
Here, given points are A (12,5) and B (4, -3) and let the point dividing the line joining two points be P(x,2)

Let the ratio be m:n

A=(125)
m
Pix. 2)
n
B=(43)
By section formula,
_ ImHp +nx; _ myg+ny
m+n ! m+n
For point P(x,2),
m x44n x12
X = — ..(1)
m+n
m ¥(—3)+n x5
And2 = ——— ..(2)

m+n

Solving 2 for finding ratio between m and n,

mx(—3)}+nx 3
2=¥

m+n



2(m + n) = -3m +5n

2m + 2n = -3m +5n

Now solving for equation 1, where m = 3 and n =5

3 X4 +35 ®12
X = —m—
345

12+60
g

~X=9
Hence, our point is (9, 2)
53. Question

Find the ratio in which the line segment joining the points A (3,-3) and B (-2, 7) is divided by x-axis. Also, find the
coordinates of the point of division.

Answer
Our points are A (3,-3) and B (-2, 7)

Let point C(x, 0) divide the line formed by joining by the points A and B in ratio of m:n.

B=(27)

Cix, 0)

m
A=13,-3)

By section formula,

IMHg 11X, my s +0y,

m+n ! m+n
For point C(x, 0)

m x(—2)4+n %3 m x7+n x({—3)
X = , 0=

m+n m+n

Solving for y coordinate,

m X7 +n X({—3
0= (-3)

m+n
~7m-3n=0
~7m = 3n

. m 3
o -

n

~sm:n=3:7



Now solving for x coordinate, with m =3 and n = 7,

X = 2 x(—2)+7 =3
3+7

_ —6+21
10

Hence, the coordinates of required point is C(g, 0)

54. Question

Find the ratio in which the points P (3/4, 5/12) divides the line segments joining the points A(1/2, 3/2) and B(2, -5).
Answer

Given points are A(1/2, 3/2) and B(2, -5)

Let the point P(3/4, 5/12) divide AB in ratio m:n.

®A-(05.15)

mi
. P = (0.75, 0.42)

\B=@.5
. (2.-5)

By section formula,

Mo+, mys+0y,

14
m+n m+n

For point P on the line joined by the points A and B.

3 _ m X2+nx - 1)
- -  2..

4 m+n

A 5 m><:(—:1]+n>(E
nd, i e (2)

m+n
Solving 1,

3(m + n) =8m + 2n
+3m + 3n =8m + 2n
~5m=n

m

L

n
Hence, ratio is 1:5.
55. Question

If the points P, Q(x, 7), R, S(6, y) in this order divide the line segment joining A(2, p) and B (7, 10) in 5 equal parts,
find x, y and p.



Answer
Here given points are A (2, p) and B ( 7, 10) which is divided into 5 equal parts by points P, Q(x, 7), R and S(6, y)

+ AP = PQ= QR = RS = SB

AlZp)

By section formula,

IMHg +1%, my s +0y,

m-+n ! m-+n
The point Q divides the line segment AB in the ratio of 2:3.

For point Q,

2 X743 %2 2 X10+3 %
x=-——F g 2R TR

I

2+3 2+3
Solving above equations, we get,

x=4andp=>5

For point P, divides the line segment AB in the ratio 4:1.

_4xT+1XZ 4 x10+1xp

I

PR 4+1

Solving for y and substituting value of p,

_ 4045

5
~y=9

Hence, valuesare x =4,y =9andp =5
Exercise 14.4

1. Question

Find the centroid of the triangle whose vertices are:
() (1, 4), (-1, -1), (3, -2)

(i) (- 2, 3), (2, -1), (4, 0)

Answer

(i) (11 4)/ (_11 _1)1 (31 '2)



A= fl 4)

he

i
1
.« PN
1
!

/C}\

%
A
A"

3{11 #\\_‘:

C=(3.-2)

We know that centroid of a triangle for the vertices (x1 , y1), (X2, y2) and (x3, y3) is

“J."'“z"’“:; Vit¥Va+¥a )

G(x, y) = (
~For coordinates (1, 4), (-1, -1), (3, -2),
1-1+3 4-1-2

Centroid of triangle = (——, ——)

1
=(1, =
(1,3)
1
Hence, centroid of triangle is ( 1, 3 )

(ii) (_ 2! 3)1 (21 _1)1 (4/ 0)

ow-F 3]
o
oy
T
\'ﬁ iy ..\_\-\-\-H
N
-
- ™
T - 1.\_.\.-\- I_
y e
\ ‘h'-.. ';H“‘-\-h
e . 1™ 3
- -':l-; Lo H.-uh____.
G 1 L hh o .:-\-"-\.
e g
s 1 Ta .,.--"'FFE-:-H. dj
\ i ;
§ .,-""".-F. B
B=(2-1)

We know that centroid of a triangle for (x1 , y1), (X2, y2) and (x3, y3) is

“l"’“z"’“a ¥1t¥a2+¥a )

G(x, y) = ( ,

~For coordinates (- 2, 3), (2, -1), (4, 0)

—24 244 3-1+0

Centroid of triangle = (——, ——)

)

AR

4
=(EI



Hence, centroid of triangle is (

TAES
v | b
o

I

2. Question

Two vertices of a triangle are (1, 2), (3, 5) and its centroid is at the origin. Find the coordinates of the third vertex.
Answer

Let the vertex of the triangle be A(1, 2), B(3, 5) and C(x, y)

Let the centroid be D(0, 0), as it is given that centroid is given at origin.

We know that centroid of a triangle for (x1 , y1), (X2, y2) and (x3, y3) is

Xy +Xa+Xy Vi +¥aty
Clx, y) = (R Tatielda

For given coordinates A(1, 2), B(3, 5) and C(x, y), centroid is,

1+3+x Z45+y

(°'°)=(T’ ;)

Solving for x and vy,
1+3+x=0and2+5+y=0
~Xx=-4andy = -7

Hence, the coordinate of third vertex is C(-4, -7)
3. Question

Prove analytically that the line segment joining the middle points of two sides of a triangle is equal to half of the third
side.

Answer

Let AABC be any triangle such that O is the origin.

~Let coordinates be A(0, 0), B(x1, Y1), C(x2, y2).

Let D and E are the mid-points of the sides AB and AC respectively.

We have to prove that line joining the mid-point of any two sides of a triangle is equal to half of the third side which
means,

DE = 1 BC
2

By midpoint formula,

_ Xyt Hy _ ¥atye
= LY =

2 2

For midpoint D on AB,

X, +0 y,+0
X = Y =T

2

(3]

Xy Y1
~X=—andy ==
2 Y 2

X1 ¥1

. Coordinate of Dis (2, 2 )

For midpoint E on AC,



Xo +0 Vo+0
X ===y ="~

2 2

Xz

X = andy =

o |

¥z ¥z
~ Coordinate of Eis ( 2, 2 )

By distance formula,

XY = \rf(xz —X1)2+(y2 —y1 )?

For BC,

BC = \f'f(xz %)+ (y, —yy )?

For DE,
DE = J(L_ x_l)2+(&_ﬁ)2
2 2 2 2

1
=3 ( «.,.'#(Xz —%1)2+ (y2 —y1 )?)

=28C
2
~ DE = E BC
2
Hence, we proved that line joining the mid-point of any two sides of a triangle is equal to half of the third side.
4. Question

Prove that the lines joining the middle points of the opposite sides of a quadrilateral and the join of the middle points
of its diagonals meet in a point and bisect one another.

Answer
Let us consider a Cartesian plane having a parallelogram OABC in which O is the origin.

We have to prove that middle point of the opposite sides of a quadrilateral and the join of the mid-points of its
diagonals meet in a point and bisect each other.

Let coordinates be A(0, 0).

So other coordinates will be B(x1 + X2, Y1), C(x3, 0) ... refer figure.

[y ¥y) M (%, * %g. ¥y
=

Let P, Q, R and S be the mid-points of the sides AB, BC, CD, DA respectively.
By midpoint formula,

_ Xyt Ho _ ¥ait¥a
= LY =

2 2




For midpoint P on AB,

_Xy PNy _ Yat¥a
2 ! 2
_ 2x) +Xp _ 2yy
2 2
2Zxy + Xo

~» Coordinate of Pis (2 , yl)

For midpoint Q on BC,

=xl+xz+xz =}'1+0
2 ! 2
_ Xy +I2xp ¥
z ! 2

Xy +2Xa ¥1
~ Coordinateof Qis( =2 , 2 )

For R, we can observe that, R lies on x axis.

Xz

- Coordinate of Ris ( z, 0 )
For midpoint S on OA,
_Xat0 o _yat0
=7 Y 2
Lx o= _¥
o - ’ y 5
¥ ¥

. Coordinate of Sis (2 , 2 )

For midpoint of PR,

Z¥)+Xz X

2
—=4+= yut0
X=_2 2 ,¥Y=—"7—
2 2
Xy +Xg Y1
= ,y=
2 2

Xy + Xg }r_l)

~ Midpoint of PR is (T '

Similarly midpoint of QS is ( HTW , %)

Xy + X y_l)

Also, similarly midpoint of AC and OA is ( 5

Hence, midpoints of PR, QS, AC and OA coincide

~We say that middle point of the opposite sides of a quadrilateral and the join of the mid-points of its diagonals meet
in a point and bisect each other.

5. Question

If G be the centroid of a triangle ABC and P be any other point in the plane, prove that PA2 + PB2 + PC2 = GA? + GB?
+ GC2 + 3 GP2,

Answer



we will solve it by taking the coordinates A(x1,y1), B(x2,y2) and C(x3,y3)

Let the co ordinates of the centroid be G(u, v).

3y Fxo+X +ya+
G(u, v) = ( 1 32 a,}'J. };2 }"a)

let the coordinates of P(h, k).

now we will find L.H.S and R.H.S. separately.

PA2+PB2+PC2

= (h-x1)2 +(k - y1)2 +(h - x2)2+ (k - y2)2 +(h - x3)2 +(k - y3)? ...by distance formula.

= 3(h2+k2)+(x12+%224+x3%) +(y12+Y22+y3%)-2h (X1 +X2+x3)-2K(y1+Y2+Y3)

= 3(h2+k2)+(x124x22+x32) +(y12+y22+y32)-2h(3u)-2k(3V)

GA2+GB2+GC2+3GP?

= (U-X1)2+(V-y1)2+(U-X2)2+(v-y2)2+(u-x3)2+(v-y3)2+3[(u-h)2+(v-k)2] ......by distance formula.
= 3(U2+Vv2)+(x124y12+x22+y22+x32+y32) - 2u(X1+X2+X3) - 2V(y1+y2+y3) + 3[uZ+h2-2uh+v2+k2-2vk]
= 6(U24+V2)+(X124+Y12+X22+y22+Xx32+Yy32)-2u(3u)-2v(3V) +3(h2+k2) -6uh-6vk

= (x12+x224x32)+(y12+y22+y32)+3(h2+k2)-6uh-6vk

Hence LHS = RHS

(The above relation is known as Leibniz Relation)

Hence Proved.

6. Question

If G be the centroid of a triangle ABC, prove that:
AB2 + BC2 + CA2 = 3 (GA2 + GB2 + GC?)
Answer

We know that centroid of a triangle for (x1 , y1), (X2, y2) and (x3, y3) is

Xy +Hp+Xg ¥Fit¥atya
Glx, y) = (Tt Titvetys

We assume centroid of AABC at origin.
For x=0 and y=0

B s S 0 and Yit¥at¥a _ 0

~¥;+X +X3;=0andy, +y, +¥; =0

Squaring on both sides, we get

X12 + X22 + X32 + 2X1X2 + 2X2X3 + 2x3X1 = 0 and y12 + y22 + y32 + 2yq1ys + 2yoy3 + 2y3y; = 0 ... (1)
AB2 + BC? + CAZ?

= [(x2 = x1)2 + (y2 - y1)21 + [(Xx3 = X2)% + (y3 - y2)?] + [(x1 - x3)? + (y1 - ¥3)?]



= (X127 + X22 - 2x1X2 + Y12 + y22 - 2y1y2)+(x22 + X3 = 2x%X3 + Y22 + y32 - 2y2y3)+(X12 + x32 - 2x1X3 + Y12 + Y32
- 2y1Y3)

= (2x12 + 2x2% + 2x3% - 2x3%2 — 2X2X3 — 2x1X3) + (2y1? + 2y2? + 2y3% - 2y1y2 - 2y2y3 - 2Yy1Y3)
= (3x12 + 3x22 + 3x32) + (3y12 + 3y22 + 3y32) ..from 1

= 3(x12 + x2% + x3%) + 3(y1? + v2% + y3%) .. (2)

3(GA? + GB? + GC?)

=3 [(x1 - 0)? + (y1 = 0)* + (x2 = 0)> + (v2 = 0)* + (x3 = 0)* + (y3 - 0)%]

=3 (x12 + v12 + x2?2 + y2? + x3%2 + y3?)

= 3 (x12 + x2% + x32) + 3(y12 + y22 + y32) .. (3)

From (2) and (3), we get

AB2 + BC2 + CAZ = 3(GAZ + GB2 + GC?)

7. Question

If (-2, 3), (4, -3) and (4, 5) are the mid-points of the sides of a triangle, find the coordinates of its centroid.

Answer

We know that centroid of ADEF will be the same that of AABC as ADEF is formed by midpoints of AABC.

.,
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L
-
& \.\
Y :
LY \
' . F = (45
5
\ £
| ¢ . :
e \ s .
D= {2 | 2 1
| TG B
~ .,
, =
A -
I -
. A Tomig oy
’ ) M N
# A -
] \ "“l
{J' 4 - A
-
" E 1
[ o

~ We know that centroid of a triangle for (x1 , y1), (X2, y2) and (x3, y3) is

Xy +Ha+Kg Vi +Va+y
G(x, y) = (T2 Dulielle

444—2 5-3+3

o G(X, y)=(T/ 2 )
£ G, Y) = (2,3)
Hence the centroid is ( 2, g )

8. Question

In Fig. 14.40, a right triangle BOA is given. C is the mid-point of the hypotenuse AB. Show that it is equidistant from
the vertices 0, A and B.



0 Al2a,0)

Fig. 14.40
Answer
Given that ABOA is right angled triangle

By midpoint formula,

_ Xyt Mg _ ¥ty
= LY =

2 2

For midpoint C on AB,

2a+0 0 +2k
X = =

I

2 Y 2

~Xx=aandy=b
~ Coordinates of C are (a, b)
It is given that C is the midpoint of AB.

By distance formula,

XY = \rf(xz —X)2+ (¥, — ¥y, )?

For OC,

oC=(a—0)2+(b—0)2
= a2 +b? ..(1)

For AC,

AC=/(2a—a)2+ (0—Db)2

- VaZib?

As C is midpoint, AC = CB. ...(2)

Hence from 1 and 2, we say that is point C is equidistant from the vertices 0, A and B.

9. Question

Find the third vertex of a triangle, if two of its vertices are at (-3, 1) and (0, -2) and the centroid is at the origin.
Answer

Let the vertex of the triangle be A(1, 2), B(3, 5) and C(x, y)

Let the centroid be G(0, 0), as it is given that centroid is given at origin.



A=(3)

B ={0,-7)

We know that centroid of a triangle for (x1, y1), (X2, y2) and (X3, y3) is

Xy R +X +v.+
G(x, y) = ( 1L TXo :;,]v'J. ¥z }"a)

3 3

For given coordinates A(1, 2), B(3, 5) and C(x, y), centroid is,

—3+0+x 1-2Z+y

(OI0)=(TI 3 )

Solving for x and vy,

-3+x=0and —1+y=0

~X=3andy =1

Hence, the coordinate of third vertex is C(3, 1).
10. Question

A (3, 2) and B (-2, 1) are two vertices of a triangle ABC whose centroid G has the coordinates (5/3, - 1/3). Find the
coordinates of the third vertex C of the triangle.

Answer

Let the vertex of the triangle be A(3, 2), B(-2, 1) and C(x, y)

5 -1
Let the centroid be G(g, ?), as it is given that centroid is given at origin.

" L
woil % |
\ W, \

N

'\\\ I|

LEtS )]

We know that centroid of a triangle for (x1, y1), (X2, y2) and (X3, y3) is

Xy +H.+X +va+
G(x, y) = ( 1L Xz a’}'J. ] }"a)

3 3
For given coordinates A(3, 2), B(-2, 1) and C(x, y)

5 -1 3-2+x  Z2+1+y

(Er?) = ( 3 ’ 3 )

Solving for x and vy,



-3+2+x=5and2+1+y=-1
~x=6andy = -4

Hence, the coordinate of third vertex is C(6, -4).
Exercise 14.5

1. Question

Find the area of a triangle whose vertices are

(i) (6, 3), (-3, 5) and (4, - 2)

(i) (aff. 2(1?1).((1?:_3. Zm‘;) and (at; . 2at;)

(iii) (a, c + a), (a,c) and (-a, c - a)

Answer

(i) (6, 3), (-3, 5) and (4, - 2)

Let A=(x1, 1) =(6,3), B=(x2,¥2) =(-3,5) and C = (x3, y3) = (4, -2)

B=(35

1 .

Area of AABC = 3 IX1 (Y2 - y3) + X2 (Y3 - Y1) + X3 (Y1 - Y2)| sqQ. units
:.AreaofAABC=51|{6(5—(-2))—3(-2—3)+4(3—5)}|

1
=5|{6><7+15—8}|
=2|57-8

2
=2 sq. units

2
(i) [mf= 2ar, I[ﬂr.r 2ar, | and (m_:: 2at,)
Area of the triangle having vertices (x1,y1), (X2,y2) and (x3,y3)

1
= 5 Ix1(y2-y3)+x2(y3-y1)+x3(v1-y2)l

Here, (x1, y1)=(at12,2aty), (x2,y2)=(at2?,2aty), (x3,y3)=(at3?,2at3)

1
», area= - |at;2(2at,-2at3)+aty2(2at3-2aty ) +atz2(2aty-2aty)|

1
= |2a2t12ty-2a2t1 2t3+2a2ty2t3-2a%t 2t +2a2t32t - 2a2t32t; |



1
= X 2a2|t12ty-t 2t3+t2t3-to 2t +t32t  -t32ts |

=a2|ty2ty-t1 23+t 23t 2t +t32t -t32t |
=a2|ty2(tp-t3) +tot3(tr-t3)-t1 (tp2-t32)]
=a?|t12(ta-t3) +tatz(ta-t3)-ta (ta+t3)(t2-t3)|
=a2|(to-t3)(t12+tota-tito-tst3)|

=a?| (ta-t3){t1(t1-t2)-t3(t1-t2) }|
=a2|(to-t3)(t1-tp)(t1-t3)|

= Area is a2|(tp-t3)(t1-t)(t1-t3)| sq. units

(iii) (a, c+ a), (a,c) and (-a, ¢ - a)

Area of the triangle having vertices (x1,y1), (X2,y2) and (x3,y3)
= é Ix1(y2-y3)+X2(y3-y1)+x3(y1-y2)I
Area=$|a(c—c+a)+a(c—a—c—a)—a(c+a—c)|

1
=5 la(a)+a(-2a)-a(a)l

1
==|-2a2 |
2

=a2

- Area is a2 sq. units

2. Question

Find the area of the quadrilaterals, the coordinates of whose vertices are
(i) (-3, 2), (5, 4), (7, - 6) and (-5, - 4)

(i) (1, 2), (6, 2), (5, 3) and (3, 4)

(iii) (-4, - 2), (-3, -5), (3, - 2), (2, 3)

Answer

(i) (-3, 2), (5, 4), (7, - 6) and (-5, - 4)

Let the vertices of the quadrilateral be A (-3, 2), B (5, 4), C (7, —6), and D (-5, —4). Join AC to form two triangles
AABC and AACD.



Area of o ABCD = Area of AABC + Area of AACD

Area of the triangle having vertices (x1,y1), (X2,y2) and (x3,y3)
1

=3 [X1(y2-y3)+Xx2(y3-Y1)+X3(Y1-Y2)l

Area of AABC

- ; 1-3(4 - (-6))+5(-6 - 2)+7(2 - 4)]
1

=3 |-30 - 40 -14|

= 42 sq. units

Area of AACD

= ; [-3(-6 - 4)+7(-4 - 2) - 5(2 + 6)]

=§|6—42-40|

= 38 sq. units
Area of o ABCD = 42 + 38 = 80 sq. units
(i) (1, 2), (6, 2), (5, 3) and (3, 4)

Let the vertices of the quadrilateral be A (1, 2), B (6, 2), C (5, 3), and D (3, 4). Join AC to form two triangles AABC
and AACD.

— i . 8 ! gl i 2 “»
A«{1,3)

Area of o ABCD = Area of AABC + Area of AACD

Area of the triangle having vertices (x1,Y1), (X2,y2) and (x3,y3)
1

=3 IX1(y2-y3)+X2(Y3-y1)+X3(Y1-Y2)|

Area of AABC

- % [1(2 - 3)+6(3 - 2)+5(2 - 2)|

1
==]-1+ 6|
2

3

2

sq. units
Area of AACD

=% |1(3 - 4)+5(4 - 2) + 3(2 - 3)]

=2]-1+ 10 -3|
2



= 3 sqg. units

Area of o ABCD = -+ 3

ra |l

11 .
> Sq. units

(”I) (_41 - 2)! (_31 - 5)1 (31 - 2)1 (2/ 3)

Let the vertices of the quadrilateral be A (-4, -2), B (-3, =5), C (3, —2), and D (2, 3). Join AC to form two triangles
AABC and AACD

-
B=(3,-6)

Area of o ABCD = Area of AABC + Area of AACD

Area of the triangle having vertices (x1,y1), (X2,Y2) and (x3,y3)
1

=3 [X1(y2-y3)+x2(y3-Y1)+X3(Y1-Y2)l

Area of AABC

=2 1-4(-5 - (-2)) - 3(-2 - (-2)) + 3(-2 - (-5))]
=2112 + 0 +9|
2

21 .
= — sq. units
2
Area of AACD

=2 1-4(-2-3) - 33 - (-2)) + 2(-2 - (-2))|
1
=120 + 15 +0]

a5 .
= > Sg. units

Area of o ABCD = ? + % = 28 sq. units
3. Question

The four vertices of a quadrilateral are (1, 2), (-5, 6), (7, -4) and (k, -2) taken in order. If the area of the
quadrilateral is zero, find the value of k.

Answer
Let four vertices of quadrilateral be A (1, 2) and B (=5, 6) and C (7, —4) and D (k, —=2)

Area of o ABCD = Area of AABC + Area of AACD = 0 sq. unit



Area of the triangle having vertices (x1,y1), (X2,y2) and (x3,y3)

1
=3 [X1(y2-y3)+X2(y3-y1)+x3(y1-Y2)l
Area of AABC

=2 11(6 - (-4)) - 5(-4 -2) + 7(2 - 6)

=§ |10 + 30 -28|

= 6 sq. units

Area of AACD

= g [1(-2 = (-4)) + k(-4 -2) + 7(2 - (-2))|
=112 -6k + 30|
2

= (3k -15) sq. units

Area of AABC + Area of AACD = 0 sq. unit
~ 6 + 3k -15 =0

3k -9 =0

~ k=3

Hence, the value of k is 3

4. Question

The vertices of A ABC are (-2, 1), (5, 4) and (2, -3) respectively. Find the area of the triangle and the length of the
altitude through A.

Answer

Let three vertices be A (=2, 1) and B (5, 4) and C(2, —3)

B = (5 4)
.

C=(2-3)
Area of the triangle having vertices (x1,y1), (X2,y2) and (x3,y3)
= ; Ix1(y2-y3)+X2(y3-y1)+Xx3(y1-y2)I
Area of AABC

= ; 1-2(4 - (-3)) + 5(-3 -1) + 2(1 - 4)]



=2]-14-20 - 6|
2

= 20 sq. units
Now to find length of BC,

By distance formula,

XY = \r’l(xz —X1)2+ (¥, — ¥y )

For BC,

BC=/(2-5)2+(-3—4)2

=979

= /58 sq. units
Area of AABC = El x Base x Altitude
220 = 51 x /58 x Altitude

40
~ Altitude = = units

V2
. .40 .
Hence, the length of altitude through A is = units.
Vo

5. Question

Show that the following sets of points are collinear.

(a) (2, 5), (4, 6) and (8, 8)

(b) (1, -1), (2, 1) and (4, 5).

Answer

(a) Let three given points be A(2, 5), B(4, 6) and C(8, 8).

Area of the triangle having vertices (x1,y1), (X2,Y2) and (x3,y3)
1
=3 [X1(y2-y3)+X2(y3-Y1)+X3(Y1-Y2)l

Area of AABC

=$|2(6—8)+4(8 -5) + 8(5 - 6)|
=214+12-8|
2

= 0 sqg. units

We know that if area enclosed by three points is zero, then points are collinear.
Hence, given three points are collinear.

(b) Let three given points be A(1, —1), B(2, 1) and C(4, 5)

Area of the triangle having vertices (x1,y1), (X2,Y2) and (x3,y3)

1
=3 [X1(y2-y3)+X2(y3-y1)+x3(y1-Y2)l



Area of AABC

=$|1(1—5)+2(5+ 1) + 4(-1 - 1)

=214+12-8|
2

= 0 sqg. units
We know that if area enclosed by three points is zero, then points are collinear.
Hence, given three points are collinear.

6. Question

Prove that the points (a, 0), (0, b) and (1, 1) are collinear if, l+% =1
a

Answer

Let three given points be A(a,0), B(0,b) and C(1,1).

Area of the triangle having vertices (x1,y1), (X2,y2) and (x3,y3)
1

=3 Ix1(y2-y3)+X2(y3-yY1)+X3(Y1-Y2)|

Area of AABC

=§ la(b - 1) + 1(0 -b)|

=2|ab-a-b|
2

Here given that l+_l=1
a b
ath _
ab
~a+b=ab
Now,

Area of AABC

=$|ab-(a+b)|

=1 ab-ab]
2
1

—E|0|

= 0 sqg. units

We know that if area enclosed by three points is zero, then points are collinear.
Hence, given three points are collinear.
7. Question

The point A divides the join of P (-5, 1) and Q (3, 5) in the ratio k : 1. Find the two values of k for which the area of a
ABC where B is (1, 5) and C (7, -2) is equal to 2 units.

Answer



coordinates A can be given by using section formula for internal division,

—5+3k 1+5k
k+1 | kel

A=( )

and B (1,5), C (7,-2)

Area of the triangle having vertices (x1,y1), (X2,y2) and (x3,y3)

1
=3 [X1(y2-y3)+X2(y3-y1)+Xx3(Y1-Y2)l

Area of AABC

1 —-5+3k 1+5k 1+5k
== 7) 4+ 1(-2 - +7(=—-5
2 l k+1 ( ) ( k+1 ) ( k+1 ) l

But Area of AABC = 2

1 -5+3k 1+5k 1+5k
a= 7V+1(-2-——)+7(——-5 =2
2' k+1 ) ( k+1 ) ( k+1 )

Solving above we get,

14k—6E
k+1

I | =4

Taking positive sign, 14k—66=4k+4
10k = 70

k=7

Taking negative sign we get,
14k-66=—4k-4

18k = 62

T 18 a9

62 31
k = = =

8. Question

The area of a triangle is 5. Two of its vertices are (2, 1) and (3, -2). The third vertex lies on y = x + 3. Find the third
vertex.

Answer

Let ABC be a triangle with A(a, b),B(2,1) and C(3,-2).
A lies on the line y=x+3 means,

b=a+3 ...(1).

Area of the triangle having vertices (x1,y1), (X2,y2) and (x3,y3)

1
=3 [X1(y2-y3)+X2(y3-Y1)+Xx3(Y1-Y2)|

Area of AABC = 5

Substituting the values of A, B and C in formula, we, get,
1
5= 3 |3a+b-7|

Taking positive value for | 3a+b -7 |,

3a+b=17 ...(2)



Solving 1 and 2 simultaneously,

. 7 13
Hence coordinates of the vertex A are (2— 'S ).

Taking negative value for | 3a+ b -7 |,
1
5(3a+b—7) =-5

3a+b=-3..(3)

Solving 1 and 2 simultaneously,

-3 -3 3
A=z andb =7 and the vertex Ais (2, 2)

[1%]

7 13 -3 3
Hence the coordinates of third vertex are (2— 'S ) or (?, 5)'

9. Question
If a=b=c, prove that the points (a, a2), (b,b2),(c, c2) can never be collinear.
Answer

Area of the triangle having vertices (x1, Y1), (X2, y2) and (x3, y3) is given by
Area of & = Jfx(y, — v)) + 2y, — ) + wyly; — )

For points to be collinear, the Area enclosed by them should be equal to 0
~ For given points,

Area = %[“(bj — ) + b — a®) + (a® - 92)]

Area = 1/2 [(b - c)(a - b)(c - a)|

Area # 0

Also itis given that #=5=¢.

Hence area of triangle made by these points is never zero. Hence given points are never collinear.
10. Question

Four points A (6, 3), B (-3, 5), C (4, - 2) and D (x, 3x) are given in such a way that AD?E = % , find x.
AA4 2

Answer

Four points A (6, 3), B (=3, 5) C (4, —2) and D(x, 3x)

Area of the triangle having vertices (x1,y1), (X2,y2) and (x3,y3)
1

=3 IX1(y27y3)+x2(y3-y1)+x3(y1-y2)l

Area of AABC

[

16(5 - (- 2)) - 3(-2-3) + 4(3 - 5)|



=$ |42 + 15 -8|

49 .

= — sg. units
2

Area of ADBC

= ; IX(5 - (-2)) + 3(-2 -3x) + 4(3x - 5))|

=$|7x+6+9x+12x—20|

=1 28x-14]
2
=+ 7(2x-1)
It is given that ﬁ =l
AMEBC 1

~2 x ADBC = AABC

2><(:I:7(2X—1))=?

~x4(2x-1)=7
~4(2x-1)=7o0or-42x-1)=7
~8Xx-4=70r-8x+4 =7

~ 8x =11 or -8x =3

11 -3
“X=—0r X =—
g8 8

.11 -3
Hence, the value of x is y or Y

11. Question

For what value of a the point (a, 1),(1, -1) and(11, 4) are collinear?
Answer

The three given points are A(a, 1), B(1, —1) and C(11, 4).

Area of the triangle having vertices (x1,y1), (X2,y2) and (x3,y3)
1
= Ix1(y2-y3)+x2(y3-y1)+x3(y1-y2)l

Given that area of AABC = 0

2 0= é la(-1 - 4) + 1(4 - 1) + 11(1 - (-1))]

.-.0=%|-5a+3+22|

~-5a+3+22=0
a=>5
Hence the value of ais 5

12. Question



Prove that the points (a, b),(a1,b1) and (a - aj, b - by) are collinear if aby = a1b

Answer

Consider the following points A(a,b), B(ai,b1), C(a—a1,b—by)
Since the given points are collinear, we have area(AABC)=0
First find the area of area(AABC) as follows:

area(AABC)=1,2 [X1(y1—Y3)+x1(y3-y1)+x3(y1—Y1)|

1
=5|a(bl—(b—b1))+a1((b—b1)—b)+(a—a1)(b—b1)|
=51 la(by—b+b1)+ai(b—bj—b)+a(b—by)—ay(b—by)|
=51|—ab—a1b1+ab—ab1+a1b+a1b1|

1
=~ |~(abs-asb)|

= (abj—ayb)
This gives, abj—a1b=0
~aby = aib

13. Question

If three points (x1, Y1), (X2, ¥2), (X3, y3) lie on the same line, prove that

Answer

Area of the triangle having vertices (x1,Y1), (X2,y2) and (x3,y3)

1
=3 IX1(y2-y3)+Xx2(y3-y1)+X3(Y1-Y2)l

Given that all points are collinear.
~area=0
X1(y2-y3)+x2(y3-y1)+x3(y1-y2) = 0
Dividing by x1 X2 X3,

. xay2—ys) + X2(¥3—¥1) + X3(ya-ya) _

X3 X2 X3 Xy Xz X3 M1 Xz X3

0

Lt R e D U &
=+ +
Wy RER ) A,

2=0

Hence proved.

14. Question

7, —

h=W

XXy

, — W Vi — W
2 .3+.3 .1+

45X

If (x, y) be on the line joining the two points (1, -3) and (-4, 2), prove that x+y+2=0.

Answer

Given: The point (X, y) is on the line joining the two points (1, -3) and (-4, 2).

To Prove: x+y+2=0

XX,

_:0



Proof: When the points line on the same line they are called collinear points.As the point (x, y) lies on the line joining
the points (1, —3) and (—4, 2), it means that the three points are collinear.If the points are in same straight line they
cannot form a triangle which implies that area of triangle becomes zero.If the vertices of the triangle are given in the
form of (a,b)where a and b are the coordinates of a given point in the direction of x and y axis respectively.

Area of the triangle having vertices (x3,y1), (X2,¥2) and (x3,y3) is given as:

Area(D) =321 (yy = yy) + T3~ 4+ T3y =Yyl oo (1)

Now, for the three points to be collinear,
Area(A)=0

Now if the points (x, y), (1, —3) and (—4, 2) are collinear,the area of the triangle formed by these points is zero.

Substitute the given values in equation (1)0,

So.3|2(—3—2)+1(2—y)—4(y+3)|=0

5x+2-y-4y-12=0

-5x -5y -10=0

Taking "-5" common from the equation we get,

= -5(x+y+2)=0

= (x+y+2)=0

Hence proved, (x+y+2)=0

Conclusion: If (x, y) be on the line joining the two points (1, -3) and (-4, 2), then x+y+2=0.
15. Question

Find the value of k if points (k, 3), (6, - 2) and (-3, 4) are collinear.
Answer

The three given points are A(k, 3), B(6, —2) and C(-3, 4). It is also said that they are collinear and hence the area
enclosed by them should be 0.

Area of the triangle having vertices (x1,y1), (X2,y2) and (x3,y3)
1
=3 [X1(y2-y3)+X2(y3-Y1)+X3(Y1-Y2)|

Given that area of AABC = 0

2 0= ; k(-2 = 4) + 6(4 - 3) - 3(3 - (-2))|
1

£ 0= -6k +6- 15|

% |-6k + 9]= 0

6k +9=0

ok =—
2

-3
Hence, the value of k is <



16. Question
Find the value of k, if the points A (7, -2), B (5, 1) and C (3, 2k) are collinear.
Answer

The three given points are A(7, —2), B(5, 1) and C(3, 2k). It is also said that they are collinear and hence the area
enclosed by them should be 0.

Area of the triangle having vertices (x1,y1), (X2,y2) and (x3,y3)

1
=3 Ix1(y2-y3)+X2(y3-yY1)+X3(Y1-Y2)l
Given that area of AABC = 0

2 0= ; 17(1 - 2k) + 5(2k - (-2)) + 3(-2 - 1)]

20 = é |7 - 14k + 10k +10 -6 -3|

-'--§|8—4k|=0
8-4k=0
4k = -8
ak=2

17. Question

If the point P (m, 3) lies on the line segment joining the points A(( —

\

| ko

.6] and B (2, 8), find the value of m.

Answer

6| and B (2, 8).

| k2

It is said that the point P(m,3) lies on the line segment joining the points A(' -

Hence we understand that these three points are collinear. So the area enclosed by them should be 0.

Area of the triangle having vertices (x1,y1), (X2,y2) and (x3,y3)

1
=3 [X1(y2-y3)+Xx2(y3-Y1)+X3(Y1-Y2)l
Given that area of AABP = 0

1 2
+0=21m(6 - 8) - (8 - 3) + 2(3 - 6)|

~-2m-2-6=0

-2m = 8

m = -4

Hence the value of m = -4

18. Question

If R (X, y) is a point on the line segment joining the points P (a, b) and Q (b, a), then prove that x + y = a + b.
Answer

Given : R (X, y) is a point on the line segment joining the points P (a, b) and Q (b, a).



Toprove: x+y=a+b

Proof:It is said that the point R(x, y) lies on the line segment joining the points P(a, b) and Q(b, a). Thus, these
three points are collinear.

So the area enclosed by them should be 0.

Area of the triangle having vertices (x1,Y1), (X2,y2) and (x3,y3) is:

Area( ) = %[;r:l( — . )-i— T, ( — Hl) + ;r:;i(yl — _;;2):|

Given that area of APQR = 0

~ Ix(b - a) + a(a - y) + b(y - b)| = 0

~bx-ax+aZ-ay+by-b2=0

~ax +ay-bx-by-a2-b2=0

. ax + ay -bx - by = a2 + b?

(@a-b)(x+y)=(a-b)@a+b)

“X+y=a+b

Hence proved.

19. Question

Find the value of k, if the points A (8, 1), B (3, - 4) and C (2, k) are collinear.
Answer

Given points are A(8,1),B(3,—4) and C(2,k).1t is also said that they are collinear and hence the area enclosed by
them should be 0.

Area of the triangle having vertices (x1,y1), (X2,y2) and (x3,y3)

1
=3 [X1(y2-y3)+X2(y3-y1)+x3(Y1-Y2)l
Given that area of AABC =0

= ; 18(-4 - K) + 3(k - 1) + 2(1 - (-4))]

=$|-32—8k+3k-3+10|

~5k+25=0

~k=-5

Hence, the value of k is -5.
20. Question

Find the value of a for which the area of the triangle formed by the points A (a, 2a), B (-2, 6) and C (3, 1) is 10
square units.

Answer
Given points are A(a,2a), B(—2,6) and C(3,1). It is also said that the area enclosed by them is 10 square units.

Area of the triangle having vertices (x1,Y1), (X2,y2) and (x3,y3)



1
=3 Ix1(y2-y3)+Xx2(y3-y1)+X3(Y1-Y2)l
Given that area of AABC = 10

210 = 51 la(6 - 1) -2 (1 - 2a) + 3(2a - 6)]

~20=|5a-2+4a+ 6a- 18|
~ 20 = | 15a - 20|

~15a-20 =+ 20

Taking positive sign,

15a - 20 = 20

oS
Taking negative sign,
15a - 20 = -20

a=0
8
Hence, the value of a are 0 and 3

21. Question

If the vertices of a triangle are (1,-3), (4, p) and (-9, 7) and its area is 15 sq. units, find the value(s) of p.
Answer

Let A(1, —3), B(4, p) and C(—-9, 7) be the vertices of the AABC.

Area of the triangle having vertices (x1,y1), (X2,Y2) and (x3,y3)

1
=3 Ix1(y2-y3)+Xx2(y3-y1)+Xx3(Y1-Y2)l
Given that area of AABC = 15
1
.15 = 3 [1(p - 7) +4 (7 - (-3)) - 9(-3 - p)|

~30=|p-7+40+ 27 + 9p|

~ 30 = | 10p + 60|

~10p + 60 = + 30

Taking positive sign,

10p + 60 = 30

p=-3

Taking negative sign,

10p + 60 = - 30

p=-9

Hence, the value of p are -3 and -9

22. Question



Find the area of a parallelogram ABCD if three of its vertices are A(2, 4), B (2 + \,-"E, 5) and C(2, 6).

Answer

It is given that A(2, 4), B(2 + ‘u@/ 5) and C(2, 6) are the vertices of the parallelogram ABCD.

Area of the triangle having vertices (x1,Y1), (X2,y2) and (x3,y3)

1
=3 [X1(y2-y3)+Xx2(y3-Y1)+X3(Y1-Y2)|
Area of cABCD = 2 x Area of AABC

Area of AABC = El 12(5 - 6)+ (2 + /3 )(6 - 4)+2(4 - 5)|
1

e -
~1-2+4+2y3 -2

== x 24/3= /3 sq. units

« Area of DABCD = 2 X +/3 = 24/3 sq. units

Hence, the area of given parallelogram is 2\,@ sg. units

23. Question
Find the value (s) of k for which the points (3k - 1, k - 2), (k, k-7) and (k - 1,-k - 2) are collinear.
Answer

LetA(3k—-1,k—-2),B(k,k—7)and C(k -1, —k — 2 ) be the given points.For points to be collinear area of
triangle formed by the vertices must be zero.

Area of the triangle having vertices ( x1,y1 ), ( x2,y2 ) and ( x3,y3) = ; [X1 (y2-y3)+x2(y3-y1)+x3(vy1-Y2
) |
area of AABC =0

_2)

> (3k=1)[(k=7)=(-k=2)]+Kk[(-k=2)-(
Y[ k=2-k+7

] k=2)1+ (k=1)[(k=2)—-(k=7)]1=0=(3k-1)[k-7 +k
+2 7+k[—-k-2—-k+2 ]+ (k-1 1=

0

= (3k=1)(2k=5)+k(-2k)+5(k—-1)=0=6k2-15k-2k +5-2kZ2+5k-5=0
= 6k2-17k + 5-2k? + 5k—5=0

= 4k2-12k=0

=4k (k=3 ) =0

= k=0 or k—=3=0

= k=0 or k=3

Hence, the value of k is 0 or 3.

24. Question

If the points A (-1,-4), B (b,c) and C (5,-1) are collinear and 2b + ¢ = 4, find the values of b and c.
Answer

The given points A(—1, —4), B(b, ¢) and C(5, —1) are collinear.

Area of the triangle having vertices (x1,y1), (X2,y2) and (x3,y3)



1
=3 IX1(y2-y3)+Xx2(y3-y1)+X3(Y1-Y2)l

Given that area of AABC = 0

s=1c= (= 1)]+b[-1-(—-4)]+5(-4-¢c)=0
#=—Cc—1+3b-20-5c=0

3b — 6¢c =21

~b - 2c

7 ..(1)

Also it is given that 2b + c = 4 ...(2)
Solving 1 and 2 simultaneously, we get,
2(7+2c)+c=4

14 +4c+c=4

Hence, value of b and c are 3 and -2 respectively

25. Question

If the points A (-2,1), B (a, b) and C (4,-1) are collinear and a - b = 1, find the values of a and b.
Answer

The given points A(-2, 1), B(a, b) and C(4, —1) are collinear.

Area of the triangle having vertices (x1,y1), (X2,y2) and (x3,y3)

1
=3 [X1(y2-y3)+X2(y3-yY1)+X3(Y1-Y2)l

Given that area of AABC =0
~=2[b-(-1)]+a(-1-1)+4(1-b)=0
2b-2-2a+4-4b=0

—-2a-6b=-2

a+3b=1..(1)

Also itis giventhata - b =1 ..(2)

Solving 1 and 2 simultaneously,

B+1+3b=1

4b =0
b=20
a=1

Hence, the values of @ and b are 1 and 0.
26. Question

If A(-3,5), B (-2,-7), C(1,-8) and D (6, 3) are the vertices of a quadrilateral ABCD, find its area.



Answer
Given vertices of a quadrilateral ABCD are A(-3, 5), B(-2, —7), C(1, —8) and D(6, 3)
Area of the quadrilateral ABCD = Area of AABC + Area of AACD

Area of the triangle having vertices (x1,y1), (X2,Y2) and (x3,y3)
1
= 5 Ix1(y2-y3)+x2(y3-y1)+x3(v1-y2)l
AreaofAABC=El|—3[—7—(—8)]+(—2)(—8—5)+1[5—(—7)]|
1
=E|_3+26+12|
35 :
—?sq. units
AreaofAACD=;|—3(—8—3)+1(3—5)+6[5—(—8)]|
1
=3 [33-2+78|
109 .
= — sq. units
2
. 35 109 i
Area of the quadrilateral ABCD = 5 + - = 72 sq. units

~Hence, the area of the quadrilateral is 72 sqg. units.

27. Question

If P (-5, -3), Q (-4, -6), R(2,-3) and S (1, 2) are the vertices of a quadrilateral PQRS, find its area.
Answer

Let P(—5,-3); Q(—4,-6); R(2,—-3) and S(1,2) be the vertices of quadrilateral PQRS.

Area of the quadrilateral PQRS = Area of APQR + Area of APSR

Area of the triangle having vertices (x1,y1), (X2,y2) and (x3,y3)
1

= 5 Ix1(y2-y3)+x2(y3-y1)+x3(v1-y2)l

AreaofAPQR=El|—5(—6+3)—4(—3+3)+2(—3+6)|
1

= E |15 + 0+ 6|

== sq. units

= 2 q.

AreaofAPSR=51|—5(2+3)+1(—3+3)+2(—3—2)|
1

=E|_25+0_10|

== sq. units

= 2 CI-

35

21
Area of the quadrilateral PQRS = 5 + 5 = 28 sq. units



~Hence, the area of the quadrilateral is 28 sqg. units.

(given answer is wrong, its not 13, it is 28 )

28. Question

Find the area of the triangle PQR with Q (3, 2) and the mid-points of the sides through Q being (2, -1) and (1, 2).
Answer

Let the co-ordinates of P and R be (a,b) and (c,d) and coordinates of Q are (3, 2)

By midpoint formula.

_ Xyt Hy _ ¥at¥e
= LY =

2 2

(2, - 1) is the mid-point of PQ.

3+4a 2+b
=——and -1 = T

o2

~a=1landb=-4
~ Coordinates of P are (1, -4)
(1, 2) is the mid-point of QR.

3+ 2+d
~1 =—cand2=—
2 2

~c=-landd =2
~ Coordinates of P are (-1, 2)

Area of the triangle having vertices (x1,Y1), (X2,y2) and (x3,y3)
= = IX1(y2-Y3)+Xa(y3-y1) +X3(y1-y2)|
AreaofAPQR=El|3(—4—2)+2(—1—1)+1(2—4)|
=Z1-18-4-2]

= 12 sq. units

Hence the area of APQR is 12 sqg. units



